HISTORY
CHAPTER-1
THE FRENCH REVOLUTION

GIST OF THE LESSION

1.  Background and Causes

1.Social Inequality:

Estates System: French society was divided into three estates:

>First Estate: Clergy

>Second Estate: Nobility

>Third Estate: Commoners (including bourgeoisie, urban workers, and peasants)

Burden of Taxes: The Third Estate bore the majority of taxes while having the least privileges.

2. Economic Distress:

Financial Crisis: Due to involvement in costly wars (including the American Revolution) and extravagant
spending by the monarchy.

Poor Harvests: Led to food shortages and increased bread prices, causing wide spread hunger.

3. Political Factors:

Weak Monarchy: King Louis XVI was indecisive and unable to manage the financial crisis.
Enlightenment Ideas: Philosophers like Voltaire, Rousseau, and Montesquicu promoted ideas of liberty,
equality, and fraternity, challenging the traditional order.

4. Calling of the Estates-General:

May 1789: King Louis XVI called the Estates-General to address the financial crisis, but it led to political
conflict as the Third Estate demanded more representation.

2. Key Events

1.  Formation of the National Assembly:

June 1789: The Third Estate declared itself the National Assembly, claiming to represent the people of
France.

Tennis Court Oath: Members of the National Assembly vowed not to disband until they had drafted a
new constitution.

2. Storming of the Bastille:

July 14, 1789: Parisians stormed the Bastille prison, a symbol of royal tyranny. This event is celebrated
as France's National Day.

3. The Great Fear:

Summer 1789: Rumors of aristocratic conspiracy led to peasant revolts, attacking noble estates and
prompting the National Assembly to abolish feudal privileges.

4, Declaration of the Rights of Man and Citizen:

August 1789: Proclaimed the principles of liberty, equality, and fraternity, and asserted individual and
collective rights.

5. Women's March on Versailles:

October 1789: Women marched from Paris to Versailles to demand bread and forced the royal family to
move to Paris, bringing them under closer scrutiny.

6. Civil Constitution of the Clergy:

1790: Reorganized the Catholic Church in France, bringing it under state control and alienating many
devout Catholics.

7. Constitution of 1791:

Established a constitutional monarchy, reducing the king’s powers and creating a Legislative Assembly.




Judiciary Executive Legislature

_ Control
l Judge ‘ King o MNational Assembly (745 members)
U ﬁ\'ﬂTE
v
o AMinisters Electors (50,000 men)
|
E ﬂ VOTE

Active citizens, entitled to vote. About 4 million
of a population of 28 million.

Passive citizens, no voting righis. About 3 million men.
Women, children and vouth below 25,

8. Rise of Radical Groups:

Political clubs like the Jacobins and sans-culottes became influential, pushing for more radical changes
and the establishment of a republic.

Women’s Revolution

* From the very beginning, women were active participants in the events which brought about so many
changes in French society.

* Most of the women of the third estate had to work for a living.

* Their wages were lower than those of men.

» They demanded equal pay for equal work.

* In order to discuss and voice their interests, women started their own political clubs and newspapers.
* One of their main demands was that women must enjoy the same political rights as men.

* Some laws were introduced to improve the position of women.

* Their struggle still continues in several parts of the world.

* [t was finally in 1946 that women in France won the right to vote.

The Abolition of Slavery

* There was a triangular slave trade among Europe, Africa, and America.

* In the 18th century, there was little criticism of slavery in France.

* No laws were passed against it.

* It was in 1794 that the convention made free to all slaves.

* But 10 years later slavery was reintroduced by Napoleon.

* It was finally in 1848 that slavery was abolished in the French colonies.

Consequences

1. End of Monarchy:

o The Revolution led to the abolition of the monarchy and the establishment of a republic.

2. Social Reforms:

o Feudal privileges were abolished, and the Declaration of the Rights of Man and Citizen
inspired democratic principles and individual rights.

3. Impact on France and the World:

o The Revolution influenced other revolutionary movements worldwide, promoting ideas of
liberty, equality, and fraternity.

o It led to significant changes in French society, politics, and culture.




4. Napoleonic Era:
o Napoleon's rise to power led to further political and military changes in France and
Europe, spreading the revolutionary ideals through his conquests and reforms.

Thinker Book Key Ideas

" . . . ce 1

John Locke Two Treatl?'es of Natural rights (life, liberty, property), government
Government by consent

Jean-Jacques "The Social Contract" |General will, sovereignty of the people

Rousseau

Baron de "The Spirit of the Separation of POWErs

Montesquieu Laws" P P

. "Candide" (Reflective |[Freedom of speech, religious tolerance, separation of

Voltaire ..
of his views) church and state
" A Vindication of the e . .

Mary Wollstonecraft Rights of Woman" Women's rights, educational and social reforms

Conclusion of the French Revolution

The French Revolution, which began in 1789, was a pivotal event in world history that profoundly
changed the social, political, and economic landscape of France. The Revolution brought an end to
centuries of feudalism and absolute monarchy, establishing the principles of liberty, equality, and
fraternity that continue to influence modern democratic societies.

Key Outcomes

1. Abolition of the Monarchy and Feudal Privileges:

o The Revolution dismantled the old feudal structures and abolished the privileges of the
clergy and nobility, leading to a more egalitarian society.

2. Rise of Republicanism:

o The Revolution led to the establishment of a republic, with the National Assembly and

later the National Convention playing crucial roles in governance. This shift from monarchy to
republicanism marked a significant change in French political history.
3. Declaration of the Rights of Man and Citizen:
o This foundational document asserted the natural rights of individuals and laid the
groundwork for modern human rights, influencing future democratic movements worldwide.
4. Social and Economic Reforms:
o The Revolution brought about significant social and economic reforms, including the
redistribution of land, the introduction of a more equitable tax system, and efforts to improve the lives of
the common people.
5. Impact on Women:
o Although the Revolution did not grant equal rights to women, it sparked debates and
movements that would eventually lead to greater gender equality in the future.
6. Rise of Napoleon:
o The political instability and power vacuums created by the Revolution paved the way for
Napoleon Bonaparte's rise to power. Napoleon’s rule further spread the revolutionary ideals across
Europe through his conquests and reforms.
o In conclusion, the French Revolution was a transformative event that reshaped France and had a
lasting impact on the world. It marked the end of an old order and the beginning of a new era
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characterized by democratic principles and human rights. The Revolution's legacy continues to resonate,
reminding us of the power of collective action and the enduring quest for justice and equality.

PICTURE BASED QUESTIONS -
Q.1.Look at the following symbol, What did they stand for?

ANSWER - Broken chain -The symbol of broken chain represents freedom. It signifies Freedom from
slavery.

Q2. France is a part of the European Union and thus its currency was the same as that of the Europe. The
euro is the currency of France. What was the currency of France before the French revolution and for
what time frame did it remain the French currency?

Answer - Livres

Assertion and Reason Questions -

Instructions:-For the following questions, choose the correct option:

. A: Both Assertion (A) and Reason (R) are true, and R is the correct explanation of A.

o B: Both Assertion (A) and Reason (R) are true, but R is not the correct explanation of A.

o C: A is true, but R is false.

. D: A is false, but R is true.

Question .1Assertion (A): The Reign of Terror was a period of severe political repression during the
French Revolution.

Reason (R): Maximilien Robespierre led the Committee of Public Safety, which aimed to protect the
Revolution from its enemies.

ANSWER- (A): Both Assertion (A) and Reason (R) are true, and R is the correct explanation of A.
Question .2 Assertion (A): The Jacobins were a conservative political club during the French
Revolution.

Reason (R): The Jacobins supported the idea of a republic and were instrumental in the fall of the
monarchy.

Answer: (C)A is true, but R is false.

Question .3 Assertion (A): The National Convention declared France a republic in 1792.

Reason (R): The monarchy was overthrown and King Louis XVI was executed.

Answer( B) Both Assertion (A) and Reason (R) are true, but R is not the correct explanation of A.




MATCHING

| Thinker || Book
|A. John Locke ||1 "The Spirit of the Laws"

|C. Baron de Montesquieu ||3 "Candide"
|D. Voltaire ||4 "The Social Contract"

|
|
|B. Jean-Jacques Rousseau ||2 "Two Treatises of Government" |
|
|

Answer Key:

. A. John Locke - 2. "Two Treatises of Government"
. B. Jean-Jacques Rousseau -4. "The Social Contract"

. C. Baron de Montesquieu - 1. "The Spirit of the Laws"

. D. Voltaire - 3. "Candide"

Sequence-Based Questions
Question 1. Put the following events in the sequence they occurred and choose the correct option :
1. The Directory takes power

2. Declaration of the Rights of Man and Citizen
3. Tennis Court Oath
4. Great Fear
5. National Convention declares France a republic
(A)2,3,5,1.4 (B) 3.4,2,5,1 (C) 1,2,3,4,5 (D) 3,4,1,2,5

Answer: B (Tennis Court Oath -->Great Fear -->Declaration of the Rights of Man and Citizen --
>National Convention declares France a republic -->The Directory takes power

Question2:Arrange the following events of the French Revolution in the correct order and choose the
correct option:

1. Execution of Louis XVI

2. Storming of the Bastille

3. Women's March on Versailles

4. Formation of the National Assembly

5. Reign of Terror

(A)4,2,3,1,5 (B)4,3,2,5,1 (©) 1,2,3,4,5 (D) 3.4,1,2,5

Answer:A(Formation of the National Assembly -->Storming of the Bastille -->Women's March on
Versailles -->Execution of Louis XVI -->Reign of Terror)

Tick the correct option(MCQ)-

Q1. Which group of people did not join the Jacobin club ?

(a) Artisans (b) Shopkeepers (c) daily-wage workers (d) Men with
property

Answer - (d) Men with property

Q2. How does a ‘Subsistence Crisis’ happen?

(a) Bad harvest leads to scarcity of grains

(b) Food prices rise and the poorest cannot buy bread

(c) Leads to weaker bodies, diseases, deaths and even food riots
(d) All the above

Answer-(d) All the above




Q.3 A noble Who led the representatives of the Third Estate in Versailles on 20th June?
(a) Mirabeau (b) Abbe Sieyes (¢) Louis XVI (d)Rousseau
Answer- (a) Mirabeau

Q.4 A Priest who wrote an pamphlet called “what is third Estate”?

(a) Mirabeau (b) Abbe Sieyes (¢) John locke (d)Roget deL isle
Answer- (b) Abbe Sieyes

Q.5 The term ‘Old Regime’ is usually used to describe(under/Any)

(a) France before 1000 B.C.

(b) Society of France after 1789 A.D.

(c) Society and institutions of France before 1789 A.D.

(d) None of the above

Answer- (c) Society and institutions of France before 1789 A.D.

Q.6 What was the name of the fortress prison that was stormed on July 14, 1789, marking the start of the
French Revolution?

A. Louvre B. Versailles C. Bastille D. Tuileries

Answer: C. Bastille

Q.7 Which event forced King Louis XVI and his family to move from Versailles to Paris?
A. The Tennis Court Oath

B. The Storming of the Bastille

C. The Women's March on Versailles

D. The Execution of Louis XVI

Answer: C. The Women's March on Versailles

Q.8 What was the "Great Fear" in the context of the French Revolution?
A. Fear of foreign invasion

B. Panic and riots by peasants

C. Fear of a royal comeback

D. Widespread famine

Answer: B. Panic and riots by peasants

Q.9 Which event is considered the end of the French Revolution?
A. The Storming of the Bastille

B. The Execution of Robespierre

C. The Fall of the Directory

D. Napoleon Bonaparte's coup d'état

Answer: D. Napoleon Bonaparte's coup d'état

Q.10 Which body was formed by representatives of the Third Estate?
A. The Estates-General

B. The National Convention

C. The National Assembly

D. The Committee of Public Safety

Answer: C. The National Assembly

Q.11 What legislative body succeeded the National Convention during the French Revolution? A. The
Estates-General

B. The National Assembly

C. The Directory

D. The Committee of Public Safety

Answer: C. The Directory




Q.13 What was the primary cause of the economic crisis that contributed to the French Revolution?
A. Costly wars

B. Droughts and crop failures

C. High taxes

D. Corruption of the monarchy

Answer: A. Costly wars

Short Answer Type Questions- (2 MARKS)
Q.1 What was the Estates-General?
Answer- It was a legislative body representing the three estates of French society (clergy, nobility, and
commoners) called by King Louis XVI in 1789.
Q.2 What was the significance of the Tennis Court Oath?
Answer -It was a pledge by the Third Estate (representing commoners) not to disband until they drafted a
new constitution for France, asserting their authority against the monarchy.
Q.3 What was the tithe and taille ?
Answer -The tithe is a one-tenth part of something paid as a contribution to a religious organization or a
compulsory tax to the government.
Taille was a direct land tax. The tithe was calculated as the one-tenth part of something.
Q.4 What was the Napoleon code?
Answer - The "Napoleon Code," officially known as the "Napoleonic Code" or the "Civil Code of the
French," was a comprehensive set of laws enacted by Napoleon Bonaparte in 1804.
Q.5What was the Reign of Terror ?
Answer -The Reign of Terror or simply The Terror was a period of about 11 months during the French
Revolution, led by Maximilien Robespierre. The Reign of Terror was announced on 5 September, 1793.
France's revolutionary government ordered the arrest and execution of thousands of people.
Q.6 What are the Political Causes of French Revolution?
Answer - The Political Causes of the French Revolution are faulty administration, the autocracy of the
king, the power of the court, the excessive spending of the royals, bankruptcy, the burden of taxes, etc.
Q.7 What was the Convention? Describe its role in France.
Answer: The clected assembly formed in France in 1792 was called Convention
Role in France : ¢ It abolished the monarchy and declared France a republic.
* Hereditary monarch Louis X VI and his wife were sentenced to death Robespierre was elected President
of the National Convention. He followed the policy of severe control and punishment.
Q.8What compelled Louis X VI to raise taxes in France?
Answer- Wars and Economic Crisis,
Debt Trap- Lenders who gave the state credit, now began to charge 10 per cent interest on loans.

Extravagant Court

Q.9 What was "guillotine"?

Answer- The guillotine was a device consisting of two poles and a blade with which a person was
beheaded.

This device was invented by Dr. Guillotin.

Q.10 Describe how abolition of slavery became possible in France.

Answer-Abolition of slavery became possible in France by the following ways :

* The salve trade began in the 18th century. The National Assembly held long debates about the rights of
man should be extended to all French subjects including those in the colonies.

» Convention legislated to free all slaves in the French overseas possessions.However, Napoleon
reintroduced slavery. Finally slavery was abolished in 1848.
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Q.11 Analyze the financial crisis that France faced in the late 18th century and how it precipitated the
French Revolution.

Answer: Outline the causes of the financial crisis, including war debts, extravagant spending by the
monarchy, and the inefficiencies of the tax system. Discuss the role of the Estates-General and the refusal
of the privileged classes to accept tax reforms.

Short Answer Type Questions - (3 MARKS )

Q. 1 . How did philosophers influence the thinking of the people of France?

Answer: Philosophers influence the thinking of the people of France as :

* Major changes were introduced in the Russian economy and agriculture after the revolution. Private
property was abolished and land became a state property. Peasants had the freedom to cultivate on state
— controlled land.

* A proper system of centralized planning was introduced with the help of five year plans. It helped in
bringing about technological improvements, economic growth and helped in removing the inequalities in
the society.

* The revolution acknowledged right to work and identified dignity of labour. Socialist economy added a
new dimension to democracy, by attributing it as a socio-economic system

Q.2 Write three main features of the French Constitution of 1971.

Answer: Powers of the National Assembly: The Constitution of 1791 vested the power to make laws in
the National Assembly, which was indirectly elected. That is, citizens voted for a group of electors, who
in turn chose the Assembly.

* Right to Vote: Not all citizens, however, had the right to vote. Only men above 25 years of age who
paid taxes equal to at least 3 days of a labourer’s wage were given the status of active citizens, that is they
were entitled to vote. The remaining men and all women were classed as passive citizens.

* Basic Rights: All the citizens were given some basic rights such as right to life, freedom of speech,
freedom of opinion, equality before law. It was the duty of the state to protect each citizen’s natural
rights.

Q. 3 Explain the impact of the French Revolution on the life of people of French.

Answer: The impact of the French Revolution on the life of people of French.

* Divorce was made legal, and could be applied by both women and men. Women could be now trained
for jobs, could become artists or run small businesses.

* The Constitution of 1791 began with a Declaration of the Rights of Man and Citizen. It proclaimed that
Freedom of speech and opinion and equality before law were natural rights of each human being by birth.
These could not be taken away.

. Newspapers, pamphlets and printed pictures appeared steadily in the towns of French. From there, they
travelled into the countryside. These publications described and discussed the events and changes taking
place in the country.

Q.4 “The inequality that existed in the French Society in the Old Regime became the cause of French
Revolution”. Justify the statement by giving three suitable examples.

Answer: The examples are :

* French Society was divided into three Estates. The First Estate comprised of clergy, the Second Estate
comprised of nobility and the Third Estate comprised of businessmen, traders, merchants, artisans,
peasants and servants.




* The members of Church and nobility enjoyed certain privileges by birth, the most important being the
exemption from paying taxes to the State.

* Feudal dues were extracted by nobles from peasants and one-tenth of the agricultural produce of
peasants, in the form of Tithes came to the share of clergy. All members of the Third Estate including
peasants paid taxes, thus, the burden of financing activities of the the state through taxes was borne by the
Third Estate alone creating heavy discontentment.

Q.5 Analyze the role of women in the French Revolution.

Answer-Women played significant roles in revolutionary events, including the March on Versailles in
October 1789, where thousands of women marched to Paris to demand bread and protest high prices.
*They actively participated in political clubs, such as the Society of Revolutionary Republican Women,
advocating for political rights and social reforms.

* Women's involvement in the storming of the Bastille symbolized their defiance against royal authority
and their desire for political change.

Long Answer Type Questions (5 Marks)

Q.1‘Social disparity was one of the major causes of the French Revolution.’ Justify by giving examples.
Answers- (i) Division of the society into three Estate :

* The First Estate: It consisted of the clergymen and church-fathers.

» The Second Estate: It consisted of landlords, men of noble birth and aristocrats.

* The Third Estate: It consisted of the vast majority of the common masses, the landless peasants,
servants, etc.

(i) Heavy Burden of Taxes on the Third Estate: The members of the first two Estates were exempted
from paying taxes to the state. So all the taxes were paid by the people of the Third Estate.

(i11) Wide Gap between People of Different Estates: Most of the people of the Third Estate were
employed as labourers in workshops with fixed wages. The wages failed to keep pace with the rise in
prices. So the gap between the poor and the rich widened.

(iv) No Political Rights: Out of the total population, the first and the second Estates had share of 2%.
The remaining people belonged to the Third Estate. Although the upper two classes made up only a small
fraction of the total population, yet they were the people who controlled the political and economic
system of the nation. They enjoyed all the rights and privileges. The entire machinery of the government
was designed to protect their interests and privileges.

(v) Unequal Distribution of Wealth : In the French society, peasants made up about 90% of the
population. However, only a small number of them owned the land they cultivated. About 60% of the
land was owned by nobles, the church and other richer members of the Third Estate.

Q.2 Explain the role of thinkers and philosophers in the French Revolution.

Answer: Influence of the Philosophers and Writers: There were many French philosophers and thinkers
like John Locke, Montesquieu, Rousseau, Voltaire and Mirabeau, who exposed the evils prevailing in the
system. They infused people with the idea of liberty, equality and fraternity.

(i) Charles Montesquieu (1689-1775): A nobleman by birth, he became a lawyer and a judge. In his
book, “The Spirit of Laws”, he criticised autocracy and praised the democratic republic.
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(i1) Francis Aronet Voltaire (1694-1778): Voltaire was another outstanding philosopher of the
Revolution. He wanted the people to think about their material life on earth, and forget about heaven. He
condemned the Church which supported the privileged class, and ignored the poor.

(ii1) Jean Jacques Rousseau (1712-1778): Rousseau is regarded as the architect of the French Revolution.
He gave the slogan “Man was born free, yet he is everywhere in chains”. In the famous book, “The Social
Contract”, he proved that the government was the result of a social contract between the people on the
one hand, and ruler on the other. So if the ruler did not fulfil the contract, the people had the right to
withdraw their loyalty to him, and bring down the tyranny of the ruler, by revolting.

(iv) John Locke: He was also a great political thinker. He wrote ‘Two Treatises of Government’ in which
he sought to refute the doctrine of the divine and the absolute right of the monarch.

(v)The philosophers and thinkers believed that,no group in a society should be privileged by birth. They
supported a society based on freedom and equal laws.

Q.3 What is the main cause of the French Revolution?
Answer-The French Revolution, which began in 1789, was driven by multiple interconnected causes.
Here is a point-wise summary of the primary causes:

1. Economic Hardship:

o National Debt: France's involvement in expensive wars, including the American
Revolution, led to a massive national debt.

o Taxation Issues: The tax system was unfair, with the Third Estate (common people)
bearing most of the tax burden while the First (clergy) and Second (nobility) Estates were largely exempt.
o Food Shortages: Poor harvests in the 1780s led to food shortages and increased bread

prices, causing widespread hunger and discontent.
2. Social Inequality:

o Estates System: French society was divided into three estates, with the Third Estate being
the most populous but having the least power and privileges.
o Privileges of the Nobility: The nobility enjoyed many privileges, including exemption

from many taxes and special rights, which bred resentment among the common people.
3. Political Discontent:

o Absolute Monarchy: King Louis XVI’s absolute rule and his inability to effectively
address the nation's problems led to widespread dissatisfaction.
o Lack of Representation: The Third Estate had little political power and demanded greater

representation and influence in government decisions.
4. Enlightenment Ideas:

o Philosophical Influence: Enlightenment thinkers like Voltaire, Rousseau, and Montesquieu
promoted ideas of liberty, equality, and fraternity, challenging the traditional structures of power and
authority.

o Critique of Absolute Power: Enlightenment writings criticized absolute monarchy and
advocated for democratic governance and individual rights.

5. Financial Crisis:

o Government Debt: The French government's inability to manage its finances effectively,
coupled with extravagant spending by the monarchy, exacerbated the financial crisis.

o Failure of Reforms: Attempts to reform the tax system and reduce debt were met with
resistance from the nobility, leading to political stalemate.

6. Immediate Triggers:

o Calling of the Estates-General: In 1789, King Louis XVI called the Estates-General to

address the financial crisis, leading to tensions between the estates.
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7.Formation of the National Assembly: The Third Estate, frustrated with its lack of influence, formed
the National Assembly, asserting its right to represent the nation and draft a new constitution.

Q.4 Evaluate the Impact of the French Revolution on the World.

The French Revolution, which began in 1789, was a major turning point in history. It brought about
significant changes not just in France but also around the world.

1.Political Impact:

1. End of Monarchy:

o The French Revolution led to the end of the absolute monarchy in France. Kings and
queens no longer had complete control, and people began to demand more democratic forms of
government. This idea spread to other countries, leading to the decline of monarchies and the rise of
republics.

2. Inspiration for Other Revolutions:

o The ideas of liberty, equality, and fraternity inspired other countries to fight for their own
freedom. For example, the Haitian Revolution and the Latin American wars of independence were
influenced by the French Revolution.

3. Growth of Nationalism:

o The revolution helped people develop a sense of national pride and identity. This idea of
nationalism spread across Europe and later influenced movements in other parts of the world.

2.Social Impact:

1. Abolition of Feudalism:

o The French Revolution abolished the feudal system, which was a system where peasants
had to work on the land owned by nobles. This led to more equality and freedom for the common people.
2. Rise of the Middle Class:

o The revolution empowered the middle class (bourgeoisie), who played a significant role in
the revolution. This shift helped reduce the power of the nobility and increased the influence of ordinary
citizens.

3. Human Rights:

o The Declaration of the Rights of Man and Citizen, adopted during the revolution,
promoted ideas like equality before the law, freedom of speech, and religious tolerance. These principles
became important in many countries.

3.Economic Impact:
1. Land Reforms:

o Land that was owned by the aristocracy was redistributed to the peasants. This helped
improve the lives of many farmers and increased agricultural productivity.

2. Encouragement of Industry:

o The disruption of old economic systems during the revolution paved the way for

industrialization. This shift from agriculture to industry eventually influenced economies worldwide.

3. Changes in Trade:

o The Napoleonic Wars, which followed the revolution, aftfected global trade. For example,
Napoleon's blockades against Britain led to changes in trade routes and economic practices.

4.Cultural Impact:

1. Spread of Enlightenment Ideas:

o The revolution was influenced by Enlightenment ideas, which emphasized reason,
individualism, and skepticism of traditional authority. These ideas spread globally, influencing political
and cultural thought.

2. Secularization:

o The revolution reduced the power of the Catholic Church in government affairs,
promoting the separation of church and state. This trend influenced many countries around the world.
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3. Art and Culture:

o The revolutionary period saw new artistic and cultural movements that reflected the values
of liberty and equality. For example, Romanticism in art and literature was partly a response to the
changes brought about by the revolution.

Conclusion

The French Revolution had a huge impact on the world. It changed political systems by ending absolute
monarchies and inspiring other revolutions. Socially, it promoted equality and human rights.
Economically, it encouraged industrialization and changed trade practices. Culturally, it spread new ideas
and reduced the power of traditional authorities. The revolution's legacy continues to shape modern
societies and governments, making it one of the most important events in history.

Q.5 Decribe the women condition before and after the French revolution .
Conditions of Women Before the French Revolution
1. Social Status:

o Women were largely confined to domestic roles and had little to no involvement in public
or political life.
o Socially, women were seen as dependents of their fathers or husbands and were expected

to manage households and bear children.
2. Legal Rights:

o Women had very limited legal rights. They could not own property independently, enter
into contracts, or participate in legal proceedings without male permission.

o Inheritance laws were unfavorable to women, often excluding them from property
inheritance.

3. Education and Employment:

o Education for women was minimal and focused primarily on domestic skills rather than
intellectual or professional development.

o Employment opportunities were limited to low-paying and menial jobs, such as domestic

service, textile work, or agriculture.

4. Political Rights:

o Women had no political rights. They could not vote, hold public office, or participate in
the political process in any meaningful way.

Conditions of Women After the French Revolution
1. Social Changes:

o The Revolution promoted ideas of liberty and equality, which inspired women to demand
greater social recognition and rights.
o Women became more politically active, participating in clubs and societies and taking part

in revolutionary activities like the Women's March on Versailles.
2. Legal Reforms:

o The Revolution led to some legal changes, such as the abolition of feudal privileges,
which indirectly benefited women by removing some social and economic barriers.
o However, many of the legal rights women sought, such as property ownership and divorce

rights, were only partially or temporarily granted.

3. Education and Employment:

o Educational opportunities for women began to improve slightly as revolutionary ideals
emphasized the importance of education for all citizens.

o Employment opportunities expanded somewhat, but women continued to face significant
discrimination and were often relegated to traditional roles.

4. Political Involvement:
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o Women like Olympe de Gouges, who authored the "Declaration of the Rights of Woman
and the Female Citizen," advocated for equal political rights and participation.

o Despite their activism, women did not gain significant political rights during the
Revolution. The new governments, including the National Assembly and later Napoleon's regime, largely
excluded women from political life.

5. Post-Revolution Backlash:

o Under Napoleon, many of the gains made by women were rolled back. The Napoleonic
Code reinforced traditional gender roles and restricted women's rights in areas such as marriage, divorce,
and property.

Conclusion

The French Revolution brought some initial changes and a greater awareness of women's rights and
issues, but it fell short of achieving significant legal and social equality for women. The revolutionary
period saw increased activism and political participation by women, but many of their demands were not
met, and subsequent regimes often reinstated traditional patriarchal structures. Despite these setbacks, the
Revolution laid the groundwork for future movements for women's rights and equality.

CASE STUDY BASED QUESTION
1. Case Study: The Reign of Terror
Background: During the French Revolution, the period known as the Reign of Terror lasted from
September 1793 to July 1794. It was marked by extreme measures taken by the revolutionary government
to protect the revolution from internal and external enemies. The Committee of Public Safety, led by
Maximilien Robespierre, implemented policies that led to mass executions and widespread fear.
Approximately 16,000 people were officially executed, and thousands more died in prison or without
trial.
1.What were the main reasons behind the implementation of the Reign of Terror? 1
Answer-The main reasons behind the implementation of the Reign of Terror were to protect the
revolution from internal and external threats, eliminate counter-revolutionaries, and consolidate the
power of the revolutionary government.
2.How did the Reign of Terror affect the general population of France? 1
Answer - The Reign of Terror instilled fear among the general population, leading to widespread
paranoia, arbitrary arrests, and executions. It disrupted daily life and created an atmosphere of suspicion
and insecurity.
3.What were some of the methods used by the revolutionary government to identify and punish enemies
of the revolution? 2
Answer- The revolutionary government used methods such as surveillance, denunciations by citizens,
trials by the Revolutionary Tribunal, and public executions to identify and punish enemies of the
revolution.
Outline map of France (For locating and labelling/ identification)
Locate these places-
Bordeaux 2. Nantes 3. Paris 4. Marseilles
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CHAPTER-2

SOCIALISM IN EUROPE AND THE RUSSIAN REVOLUTION
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October Revolution

* 16th October 1917 — Lenin persuaded the Petrograd Soviet and the Bolshevik Party to agree to a
socialist seizure of power. A Military Revolutionary Committee was appointed by the Soviet to organize
seizure.

* The uprising began on 24th October. Prime Minister Kerenskii left the city to summon troops.

* Early morning military men loyal to the government seized the buildings of two Bolshevik newspapers.
Pro-government troops were sent to take over telephone and telegraph offices and protect the Winter
Palace.

* In response, the Military Revolutionary Committee ordered to seize government offices and arrest the
ministers.

* The Aurora’ ship shelled the Winter Palace. Other ships took over strategic points.

What Changed after October?

* Most industries and banks were nationalized in November 1917.

* The land was declared social property and peasants were allowed to seize the land of the nobility.

* New uniforms were designed for the army and officials. To assert the change, new uniforms were
designed for the army and officials, following a clothingcompetition organized in 1918 — when the Soviet
hat (budeonovka) was chosen.

* The Bolshevik Party was renamed the Russian Communist Party (Bolshevik).

* Russia became a one-party state, and the Russian Communist Party was the only party

* In 1918, the Bolsheviks made peace with Germany at Brest Litovsk and signed a peace pact
withGermany.

Stalinism and Collectivism
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The Collectivization programs began in 1929.

All peasants were forced to cultivate in collective farms (Kolkhoz) by the Party.

The ownership of collective farms received the implements and bulk of the land.

Kolkhoz profit was shared and peasants worked on the land.

Livestock was destroyed and the authorities were resisted by the enraged peasants.

The number of cattle fell by one-third, between 1929 and 1931.

People were severely punished if they resisted collectivization.

People were sent to exile or deported, although peasants argued that they were not against
somahsm and that they were not rich, they were simply against collective farms due to various reasons.
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Global Impact:

In many countries, communist parties were formed - such as the Communist Party of Great Britain. By
thetime of the outbreak of World War II, globally the USSR had given socialism a global face. A
backwardcountry had become a great power. Its industries and agriculture were developed. But it had
deprived itscitizens of necessary freedom and carried out its developmental projects through repressive
policies. By theend of the twentieth century, the USSR's international reputation as a socialist country had
declined.

The Global Influence of the Russian Revolution and the USSR:

The idea of a state of workers inspired many people. By the time of the outbreak of the Second
WorldWar, the USSR had given socialism a global face and world stature. Many non-Russians
participated in theConference of the Peoples of the East (1920), and the Bolsheviks founded the
Comintern (an international unionof the pro-Bolshevik socialist parties)

MULTIPLE CHOICE QUESTIONS (1 MARK)

Instructions:-For the following questions, choose the correct option:

. A: Both Assertion (A) and Reason (R) are true, and R is the correct explanation of A.

. B: Both Assertion (A) and Reason (R) are true, but R is not the correct explanation of A.
. C: A is true, but R is false.

. D: A is false, but R is true.

Q.1Assertion: The October Revolution is also known as the Bolshevik Revolution.

Reason: It took place in October according to the Gregorian calendar.

Answer- C: A is true, but R is false.

Q.2 Assertion: The Treaty of Brest-Litovsk ended Russia’s involvement in World War 1.
Reason: The Bolshevik government wanted to focus on internal problems and consolidate power.
Answer -  A: Both Assertion (A) and Reason (R) are true, and R is the correct explanation of A.
Q 3 :Identify the thinker -

1. Collaborated with Marx on "The Communist Manifesto."

2 Contributed to socialist theory and supported workers' movements.

(a) Karl Marx (b) Robert owen (c¢) Louis blanc (d) Friedrich Engels
Answer: (d) Friedrich Engels

Q 4 : What was the primary goal of the Bolsheviks in the October Revolution?

a) To establish a constitutional monarchy

b) To implement democratic elections

¢) To establish a socialist state

d) To maintain the Provisional Government

Answer: c¢) To establish a socialist state

Q 5 : What event marked the beginning of the Russian Civil War?
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a) The February Revolution

b) The signing of the Treaty of Brest-Litovsk

¢) The October Revolution

d) The establishment of the Provisional Government

Answer: c¢) The October Revolution

Q 6 .The Central powers during the First World War included countries like Germany, Turkey and....... ?
(a) France (b) Austria (c) Britain (d) Russia

Answer: (d) Russia

Q.7 The main ideological difference between the Bolsheviks and the Mensheviks was:
a) The role of the Tsar in government

b) The timing and methods of achieving socialism

¢) Support for World War I

d) Attitudes towards Western Europe

Answer: b) The timing and methods of achieving socialism

VERY SHORT ANSWER QUESTIONS (2 MARKS)

Q.8 Who were the ‘greens’ and ‘whites’?

Answer: They were the group of people who were against the Bolshevik Revolution. They started a civil
war. They were supported by the French, American, British and the Japanese troops as these countries
were worried about the growth of socialism in Russia.

Q.9 What was the basic idea of socialism?

Answer: Socialists were against private property, and saw it as the root of all social ills of the time

Q.10 In the context of Russia what was ‘Kolkhoz’?

Answer: Kolkhoz were the collective farms, where all peasants were forced to cultivate from 1929.

Q 11 : Explain the significance of the slogan "Peace, Land, and Bread" during the Russian Revolution.
Answer: The slogan "Peace, Land, and Bread" encapsulated the Bolsheviks' promises to withdraw from

World War I (peace), redistribute land to peasants (land), and address food shortages (bread), gaining
them popular support.

SHORT ANSWER QUESTIONS (3 MARKS)

Q 12 Discuss the economic and social conditions in Russia that led to the Russian Revolution of
1917.

Answer - 1. Russia in the early 20th century was marked by severe economic and social inequality.
2.The majority of the population were peasants living in poverty, while a small elite controlled most of
the land and wealth.

3. Industrial workers faced poor working conditions, low wages, and long hours, leading to widespread
discontent. The rapid industrialization led to overcrowded cities and poor living conditions. Additionally,
Russia's involvement in World War I exacerbated these issues, causing food shortages, inflation, and
massive military casualties, which further eroded public support for the Tsarist regime.

Q 13 .Assess the impact of Lenin's leadership on the success of the Bolshevik Revolution.

Answer - 1. Lenin’s leadership was instrumental in the success of the Bolshevik Revolution. His
charismatic leadership, strategic vision, and ability to inspire and mobilize the masses were crucial.
Lenin’s April Theses provided a clear and radical program, advocating for peace, land redistribution, and
workers' control of production.

2. He adeptly used slogans like “Peace, Land, and Bread” to gain popular support. Lenin also
successfully navigated internal party debates and built a disciplined, centralized party capable of seizing
power

17




3. His decision to take advantage of the Provisional Government’s weaknesses in October 1917 and his
role in planning and executing the revolution were pivotal to its success.

Q14. Explain the causes and consequences of the Russian Civil War (1917-1922).

Answer — 1. Cause: The Russian Civil War was caused by multiple factors, including opposition to
Bolshevik policies, the desire of various groups to seize power, and intervention by foreign powers.
The main factions included the Red Army (Bolsheviks), the White Army (a loose coalition of anti-
Bolshevik forces), and various nationalist, anarchist, and separatist movements.

2. Consequences of the Civil War included widespread devastation, economic collapse, and loss of life.
The Bolshevik victory led to the consolidation of Soviet power, the establishment of a one-party state,
and the creation of the Soviet Union in 1922,

3. The war also resulted in harsh repression of political opposition and set the stage for the authoritarian
nature of the Soviet regime.

LONG ANSWER TYPE QUESTIONS (5 MARKS)
Q 15 How did Stalin’s rise to power impact the legacy of the Russian Revolution?
Answer -

o Centralization of Power: Establishment of a totalitarian regime with centralized control.
o Purges and Repression: Widespread purges, show trials, and political repression.

o Industrialization: Forced rapid industrialization and collectivization policies.

o Historical Revisionism: Rewriting of revolutionary history to glorify Stalin and the
Bolshevik Party.

o Legacy: Consolidation of a communist state but at the cost of significant human suffering

and loss of original revolutionary ideals

Q 16 : Analyze the consequences of the Russian Revolution for women in Soviet society.
Answer -

o Legal Reforms: Introduction of laws ensuring gender equality, divorce rights, and
maternity leave.

o Employment Opportunities: Increased access to education and employment in various
sectors.

o Political Participation: Women’s involvement in political activities and Soviet
institutions.

o Social Changes: Efforts to improve childcare, healthcare, and support for working
mothers.

o Challenges: Continued struggles with traditional gender roles and underrepresentation in
higher leadership.

Q17 : How did the Bolsheviks consolidate power after the October Revolution?

Answer -

o Decrees and Reforms: Land redistribution, worker control over factories.

Suppression of Opposition: Banning rival political parties, arresting opposition leaders.
Establishment of the Cheka: Secret police to eliminate counter-revolutionaries.
Control of Soviets: Strengthening influence over workers' and soldiers' councils.
Propaganda: Use of media to promote Bolshevik ideology and policies.
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Q 18 Analyze the long-term economic and social consequences of the Russian Revolution for the
Soviet Union.
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Economic Consequences:

1
o
o
2
o

farms.

o

Nationalization of Industry:
Immediate takeover of major industries by the state.
Centralized economic planning under the Soviet government.
Collectivization of Agriculture:
Forced consolidation of individual peasant farms into large, state-controlled collective

Disruption of agricultural productivity, leading to famines, notably the Holodomor in

Ukraine.
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Industrialization:

Rapid industrialization through Five-Year Plans.

Significant growth in heavy industries such as steel, coal, and machinery.

Neglect of consumer goods production, leading to shortages of everyday items.
Economic Inefficiencies:

Bureaucratic central planning often led to waste and inefficiency.

Lack of market signals resulted in production imbalances and poor resource allocation.
Economic Stagnation:

Initial industrial growth followed by stagnation in later decades.Inability to compete with

capitalist economies in innovation and productivity.

Q 19. Analyze the long-term social consequences of the Russian Revolution for the Soviet Union.
Social Consequences:
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Class Restructuring:
Abolition of the aristocracy and bourgeoisie as dominant classes.
Creation of a new class hierarchy with the Communist Party elite at the top.
Education and Literacy:
Massive expansion of the education system.
Significant increase in literacy rates and access to higher education.
Healthcare:
Establishment of a universal healthcare system.
Improvements in public health and life expectancy over time.
Gender Equality:
Legal reforms promoting gender equality, including women’s rights to work and vote.
Increased participation of women in the workforce and political life, although leadership

roles remained limited.
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Political Repression:

Establishment of a one-party state with severe restrictions on political freedoms.

Widespread use of secret police (NKVD/KGB), purges, and labor camps (Gulags).
Cultural Transformation:

Promotion of socialist realism in arts and literature.

Suppression of dissenting cultural and intellectual expressions.
Urbanization:

Rapid urbanization due to industrialization, leading to the growth of cities.

Strain on urban infrastructure and housing, leading to poor living conditions for many.
Collective Memory and Propaganda:

Creation of a state-controlled narrative of the revolution and Soviet history.

Use of propaganda to maintain regime legitimacy and control public perception.

Map Work: Locate and label the following items on the given outline map of world.
Central powers — A. Germany  B. Austria-Hungary = C. Turkey
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Allied powers- i) france

ii) Russia

iii) England

iv) USA
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CHAPTER -3
Nazism and the Rise of Hitler

Nazism is also known as National Socialism, a political ideology propagated by Nazi party in
Germany. It was started by Adolf Hitler in 1920s and lasted till the end of the World War II in 1945.

Birth of the Weimar Republic:
1. Germany fought the First World War (1914-1918) alongside Austria and against the Allies
(England, France, and Russia).

2. Germany made initial gains by occupying France and Belgium. However, the Allies,
strengthened by

3. The US entry in 1917, defeated Imperial Germany.

4. This defeat led to the abdication of the emperor from throne and presented an opportunity
before parliamentary parties to recast German polity.

5. A National Assembly was convened at Weimar which established a democratic constitution with
a federal structure.

6. Deputies were now elected to the German Parliament or Reichstag, based on equal and

universal votes cast by all adults including women.
The Treaty of Versailles:

a. It is a peace agreement signed between Germany and the victorious Allied Powers in 1919 at
the Palace of Versailles in Paris.
b. The treaty ended the state of war that had existed between Germany and the Allies from 1914

and brought World War I to an end.

Impact of Treaty of Versailles in Germany:

a. Germany lost its overseas colonies, a tenth of its population, 13 per cent of its territories, 75 per
cent of its iron and 26 per cent of its coal to France, Poland, Denmark, and Lithuania.

b. Germany was demilitarised to weaken its power by the allied powers.

c. The War Guilt Clause held Germany responsible for the war and damages which the Allied
countries suffered.

d. Germany was forced to pay compensation amounting to £6 billion.

Economic crisis (Hyperinflation)

1. Germany had fought the war largely on loans and had to pay war reparations in gold. This
depleted gold reserves.

2. In 1923 Germany refused to pay so the French occupied its leading industrial area, Ruhr.

3. Germany printed paper currency recklessly. With too much printed money in circulation, the

value of the German mark fell. In April the US dollar was equal to 24,000 marks, in August 4,621,000
marks and in December 98,860,000 marks.

4. This crisis came to be known as hyperinflation, a situation when prices rise phenomenally high.
5. The Years of Depression:

a. German investments and industrial recovery were totally dependent on short-term loans,
largely from the USA.

b. This support was withdrawn when the Wall Street Exchange crashed in 1929.

c. This was the start of the Great Economic Depression. Over the next three years, between 1929

and 1932, the national income of the USA fell by half.

Impact of Great Depression on Germany:
. The German economy was the worst hit by the economic crisis.
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. By 1932, industrial production was reduced to 40 per cent of the 1929 level. Workers lost their
jobs or were paid reduced wages. The number of unemployed touched an unprecedented 6 million.

. As jobs disappeared, the unemployed youth took to criminal activities and total despair became
commonplace.

. Big as well as small businesses, the self-employed and retailers suffered as their businesses got
ruined.

Proletarianization (Fear of becoming poor)

. The rich, small businessmen, middle class, and self-employed persons developed a fear that at any
time they would become poor and come to the streets in poverty.

. This group began to support Hitler and his ideas.

Political Situation in Germany during Great Depression:

. In years of Great Depression, the Weimar Republic was becoming politically fragile.

. Due to proportional representation, it became near impossible task to achieve majority in
parliament which led to a rule by coalitions. Within its short life, the Weimar Republic saw twenty
different cabinets lasting on an average 239 days.

. Liberal use of Article 48: The President under Article 48 had the powers to impose emergency,
. People lost confidence in the democratic parliamentary system, which seemed to offer no
solution.

. He promised to weed out all foreign influences and resist all foreign conspiracies against
Germany.

Hitler’s Rise to Power:-

. Hitler was born in Austria in 1889. He earned many medals for bravery in the First World War.
. The German defeat horrified him. The Treaty of Versailles made him furious.

. He joined the German Workers Party and renamed it National Socialist German Workers’ Party.
This later came to be known as the Nazi Party.

. Nazism became a mass movement only during the Great Depression. The Nazi propaganda stirred

hopes of a better future. Hitler was a powerful and effective speaker. He promised the people a strong
nation where all would get employment.

Hitler’s Destruction of Democracy

1) On 30 January 1933, President Hindenburg offered the Chancellorship to Hitler. Having acquired
power, Hitler set out to dismantle the structures of democratic rule.

2) A mysterious fire broke out in the German Parliament building and the Fire Decree of 28
February 1933 was passed which indefinitely suspended civic rights like freedom of speech, press, and
assembly.

3) Then he turned on his arch-enemies, the Communists, most of whom were hurriedly packed off to
the newly established concentration camps. The repression of the Communists was severe. The socialists,
democrats and Catholics also were arrested and killed.

4) On 3 March 1933, the famous Enabling Act was passed. This Act established a dictatorship in
Germany. It gave Hitler all powers to control the economy, media, army, and judiciary.

5) Special surveillance and security forces were created to control and order society in ways that the
Nazis wanted. Apart from the already existing regular police in green uniforms the Gestapo (secret state
police), the SS (the protection squads), criminal police, and the Security Service (SD). The police forces
arrested, tortured, and killed the undesirables.

Reconstruction of the Germany by Hitler

1. Hitler pulled out of the League of Nations in 1933, reoccupied the Rhineland in 1936 and integrated
Austria and Germany in 1938 under the slogan: One people, One empire, One leader. .

2. Hitler assigned the responsibility of economic recovery to the economist Hjalmar Schacht who
provided employment through a state-funded work creation program. This project produced the famous
German superhighways and the people’s car, the Volkswagen.
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3.In foreign policy also, Hitler acquired quick successes. He reoccupied the Rhineland in 1936 and
integrated Austria and Germany in 1938 under the slogan, One people, One empire, and One leader.
4.He then went on to wrest German-speaking Sudetenland from Czechoslovakia and gobbled up the
entire country. In all of this he had the unspoken support of England and France.

5.These quick successes at home and abroad seemed to reverse the destiny of the country. Hitler invested
hugely in rearmament as the state still ran on deficit financing.

6.Hitler chose war as the way out of the approaching economic crisis which led to IT World War.

Youth in Nazi Germany / What happened in schools under Nazism?

1. All schools were cleansed and purified. This meant that teachers who were Jews or seen as
politically unreliable were dismissed.
2. Children were first segregated Germans and Jews could not sit together or play together.

Subsequently, undesirable children Jews, the physically handicapped, and Gypsies were thrown out of
schools.

3. Good German children were subjected to a process of Nazi schooling, a prolonged period of
ideological training. School textbooks were rewritten. Racial science was introduced to justify Nazi ideas
of race. Stereotypes about Jews were popularised even in classes.

4, Children were taught to be loyal and submissive, hate Jews, and worship Hitler. Even the function
of sports was to nurture a spirit of violence and aggression among children. Hitler believed that boxing
could make children iron hearted, strong and masculine.

5. Y outh organizations were made responsible for educating German youth in the spirit of National
Socialism.

6. 10year-olds had to enter Jungvolk. At 14, all boys had to join the Nazi youth organization called
Hitler Youth, where they learnt to worship war, glorify aggression and violence, condemn democracy,
and hate Jews, communists, Gypsies and all those categorised as undesirable.

The Nazi Cult of Motherhood — Women were told to be good mothers and rear pure-blooded Aryan
children. They were encouraged to produce many children. To encourage women to produce many
children, Honour Crosses were awarded. A bronze cross was given for four children, silver for six and
gold for eight or more.

The Art of Propaganda. Why was Nazi propaganda effective in creating a hatred for Jews ?

1. The Nazi regime used language and media with care and often to great effect. They used films,
pictures, radio, posters, etc., to spread hatred for Jews. Nazis never used the words kill or murder in their
official communications. Mass killings were termed special treatment, final solution, euthanasia,
selection and disinfections.

2. Media was carefully used to win support for the regime and popularise its worldview. Nazi ideas
were spread through visual images, films, radio, posters, catchy slogans and leaflets.
3. In posters, groups identified as the enemies of Germans were stereotyped, mocked, abused and

described as evil. Socialists and liberals were represented as weak and degenerate. They were attacked as
malicious foreign agents.
4. Orthodox Jews were shown with flowing beards wearing kafta

MULTIPLE CHOICE QUESTIONS (1 MARK)

Q.1 Which event marked the beginning of Hitler's aggressive expansionist policies?

A. Annexation of Austria (Anschluss) B. Invasion of Poland

C. Occupation of the Rhineland D. Munich Agreement
Answer: A. Annexation of Austria (Anschluss)

Q.2 What was the primary aim of the Nazi propaganda?

A. To promote peace and harmony

B. To glorify the German past and Hitler

C. To support democratic values
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D. To foster international cooperation

Answer: B. To glorify the German past and Hitler

Q.3 What was the purpose of the Nuremberg Laws of 1935?

A. To provide employment to all Germans

B. To exclude Jews from German citizenship and limit their rights

C. To promote industrialization in Germany

D. To establish a welfare state

Answer: B. To exclude Jews from German citizenship and limit their rights

Q.4 What was the main goal of the Enabling Act passed in 1933?

A. To provide universal healthcare

B. To give Hitler dictatorial powers

C. To establish free press

D. To create new jobs

Answer: B. To give Hitler dictatorial powers

Q.5 What was the primary purpose of the Nazi regime's use of concentration camps?
A. To provide housing for refugees

B. To detain and eliminate political opponents and minority groups

C. To serve as tourist attractions

D. To educate children

Answer: B. To detain and eliminate political opponents and minority groups

Instructions:-For the following questions, choose the correct option:

A: Both Assertion (A) and Reason (R) are true, and R is the correct explanation of A.

B: Both Assertion (A) and Reason (R) are true, but R is not the correct explanation of A.
C: A is true, but R is false.

D: A is false, but R is true.

Q.6 .Assertion (A): The Enabling Act of 1933 allowed Hitler to establish a dictatorship in Germany.
Reason (R): The Enabling Act gave Hitler the power to pass laws without the involvement of the
Reichstag.

Answer: Both A and R are true, and R is the correct explanation of A.

Q.7. Assertion (A): The Nuremberg Laws were enacted to protect the rights of Jewish citizens in
Germany.

Reason (R): The Nuremberg Laws stripped Jews of their German citizenship and banned marriages
between Jews and non-Jews.

Answer: A is false, but R is true.

Q.8. Assertion (A): The Kristallnacht, or Night of Broken Glass, was an organized attack on Jewish
businesses and synagogues.

Reason (R): It marked the beginning of the systematic extermination of Jews.

Answer: Both A and R are true, but R is not the correct explanation of A.

VERY SHORT ANSWER QUESTIONS (2 MARKS)

Q.9 Trace any three main features of the foreign policy of Hitler.

Answer:

* On 30th January 1933, Hitler became the Chancellor of Germany and established dictatorship.
* Right from the beginning, he followed a policy of aggression and war towards other countries.

* He pulled out of the League of Nations in 1933, reoccupied Rhineland in 1936 and integrated Austria

and Germany in 1938 under the slogan ‘One people, One empire, One leader’.

24




Q.10 When did Hitler formally announce his violation of the Treaty of Versailles ? What reason did he
give for this ?

Answer: * Hitler formally announced his violation of the Treaty of Versailles in March 1935.

* Hitler claimed that he was trying to make Germany equal in position to the other European powers.

* Since European nations had not followed the policy of disarmament, German rearmament was a
necessity.

Q.11 What do you know about ‘Nazi schooling’ ?

Answer: All ‘Good German’ children were subjected to a prolonged period of ideological training—a
process of Nazi schooling. School textbooks were rewritten. Racial science was introduced to justify Nazi
ideas of race. Children were taught to be loyal and submissive, hate Jews, and worship Hitler. Even sports
was used to nurture a spirit of violence and aggression among children. Hitler believed boxing made
children iron-hearted, strong and masculine.

Q12 .Who were mockingly called the ‘November criminals’?

Answer: Socialists, Catholics and Democrats were called the _November Criminals®.
SHORT ANSWER QUESTIONS (3 MARKS )

Q.13How did Nazi propaganda play a role in Hitler’s rise to power?

Answer:Minister of Propaganda: Joseph Goebbels led a massive propaganda campaign.

. Media control: Controlled newspapers, radio, films, and rallies to spread Nazi ideology.
. Cult of personality: Glorified Hitler as the savior of Germany.

. Anti-Semitic messages: Promoted hatred against Jews and other minorities.

. National unity: Fostered a sense of national pride and unity among Germans.

Q.14 What was the ideology of the Nazis regarding the Jews ?

Answer: The ideology of the Nazis regarding the Jews were :

* All schools were cleansed and purified under Nazism. Those teachers were dismissed who were found
to be Jews or seen as politically unreliable.

* German and Jew children were not allowed to sit or play together.

* All the undesirable children—Jews, Gypsies, and the physically handicapped were dismissed from
schools and.Jinally were taken to gas chambers in the 1940s.

Q.15 What was the Nazis ideology regarding motherhood ?
Answer:

1. In Nazi Germany, children were repeatedly told that women were radically different from men.
2. It was preached that the fight for equal rights for men and women was wrong and it would destroy the
society. The boys were taught to be aggressive, masculine and steel-hearted. The girls were taught to
become good mothers.
3.They were supposed to rear pure-blooded Aryan children and maintain the purity of the race. They had
to distance themselves from Jews, look after the home, and over and above teach their children the Nazi
values.

LONG ANSWER TYPE QUESTIONS (5 MARKS)

Q.16 How did the Nazis proceed to realise their murderous racial ideology by eliminating the
,undesirables™? Explain.
Ans: The Nazis proceeded to realise their murderous racial ideology by eliminating the undesirables in
the following manner.

(a) Jews remained the worst sufferers in Nazi Germany. From 1933-1938 Jewish business was
boycotted, they were expelled from government services and their property was confiscated. From 1939-
1945 the Jews were kept in ghettos, in extreme poverty and misery and eventually they were killed in gas
chambers.
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(b) Germany occupied the north-western Poland. Poles were forced to leave their homes and property, to
be occupied by ethnic Germans. Poles were then sent to the final destination of the undesirables®.

(c) Members of Polish intelligentsia were murdered in large number in order to keep the entire people
intellectually servile.

(d) Polish children who looked like Aryans were forcibly snatched and examined by race experts. If they
passed the test, they were raised in German families and if not they were sent to orphanages, most of
them died.

(e) Poland had some of the largest ghettos and gas chambers where Jews were killed.
Q.17What was the Treaty of Versailles, and why did it cause resentment in Germany?

The Treaty of Versailles: Signed on June 28, 1919: Marked the official end of World War 1. Imposed by
Allied Powers: Mainly France, Britain, and the United States

Terms of the Treaty:

o Territorial Losses: Germany lost significant territories, including Alsace-Lorraine to France, and
areas in the east to Poland.

o Military Restrictions: The German army was limited to 100,000 troops, and the navy was
restricted. No air force was allowed.

o Reparations: Germany was required to pay huge reparations for the damage caused during the
war.

o War Guilt Clause: Article 231 of the treaty placed full responsibility for the war on Germany and
its allies.

o Occupation and Demilitarization: The Rhineland was to be demilitarized and occupied by Allied
troops.

Reasons for Resentment in Germany:

. Humiliation: The war guilt clause humiliated Germany, as they had to accept full responsibility
for causing the war.

. Economic Burden: The reparations placed a heavy financial strain on Germany, leading to
economic hardship and hyperinflation.

. Territorial Losses: Losing territories weakened Germany both economically and strategically,
affecting national pride.

. Military Restrictions: The limitations on the military were seen as a blow to Germany's
sovereignty and ability to defend itself.

. Political Instability: The harsh terms of the treaty fueled political instability, leading to
widespread dissatisfaction and contributing to the rise of extremist movements like the Nazi Party.

. Nationalist Anger: Many Germans felt betrayed by their leaders for accepting such harsh terms,
leading to a sense of injustice and a desire for revenge.

Q.18Describe the main features of Nazi ideology.

Answer:

. Racial superiority: Belief in the superiority of the Aryan race.

. Anti-Semitism: Hatred and persecution of Jews.

. Nationalism: Extreme pride in German identity and culture.

. Militarism: Emphasis on military strength and expansion.

. Authoritarianism: Support for a totalitarian state under a single leader.
. Social Darwinism: Belief in the survival of the fittest in human society.
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Map work:

Q.19 Locate and label the following items on the given outline map of world.
A. Germany B. Japan C. Italy D. Lithuania E. Belgium
1) france i1) Russia-USSR  iii) England  iv) USA
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CHAPTER-5

Pastoralists in the Modern World
Introduction
. Nomads are people who do not live in one place but move from one area to another to earn their
living. In many parts of India we can see nomadic pastoralists on the move with their herds of goats and
sheep, or camels and cattle.
1 Pastoral Nomads and their Movements
1.1 In the Mountains
Gujjar Bakarwals
>QGujjar Bakarwals of Jammu and Kashmir are great herders of goat and sheep.

The Gaddi shepherds of Himachal Pradesh

. The Gaddi shepherds of Himachal Pradesh had a similar cycle of seasonal movement.

. They too spent their winter in the low hills of Siwalik range, grazing their flocks in scrub
forests.

1.2 On the Plateaus, Plains and Deserts

. Pastoralists were also found in the plateaus, plains and deserts of India.

. In Maharashtra, Dhangars were an important pastoral community who were mostly, shepherds,
blanket weavers, and buffalo herders.

. During the monsoon, they used to stay in the central plateau of Maharashtra. By October the
Dhangars harvest their bajra and move to the west.

. In the state of Karnataka and Andhra Pradesh, the dry central plateau was covered with stone
and grass, inhabited by cattle, goats and sheepherders called Gollas herded cattle.

. The Kurumas and Kurubas reared sheep and goats and sold woven blankets. During the dry
season, they moved to the coastal tracts and left when the rains came.

. Banjaras were yet another well-known group of graziers, found in the villages of Uttar Pradesh,
Punjab, Rajasthan, Madhya Pradesh and Maharashtra.

. Raikas lived in the deserts of Rajasthan. During the monsoons, the Raikas of Barmer, Jaisalmer,

Jodhpur and Bikaner stayed in their villages, where pasture was available. By October, they moved out in
search of other pasture and water and returned again during the next monsoon.

Conclusion

1) Pastoral communities in different parts of the world are affected in different ways by changes in
the modern world.

2) Their pattern of movement was affected by new laws and new borders.

3) Pastoralists find it difficult to move in search of pastures and grazing becomes difficult.

4) During the time of drought, cattle die in large numbers.

5) Yet, pastoralists do adapt to new times.

6) They change the paths of their annual movement, reduce their cattle numbers, press for rights to

enter new areas, exert political pressure on the government for relief, subsidy and other forms of support
and demand a right in the management of forests and water resources.
IMPORTANT QUESTIONS-
Q1.Why were some forests classified as “protected”?
ANSWER- (a) In these the customary grazing rights of pastorals were granted but their movements were
severely restricted.
(b) The colonial officials believed that grazing destroyed the saplings and young shoots of trees that
germinated on the forest floor.
Q.2 Who are nomadic pastoralists ?
Answer:

» Nomads are people who do not live at one place but move from one area to another to earn their
living.
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* In many parts of India, we can see nomadic pastoralists on the move with their herds of goats and
sheep, or camels and cattle.
» They move place to place in search of new pastures for their herds of goats and sheep.

Q.3 What do you know about the lifestyle of Gujjars of Garhwal and Kumaun ?

Answer:

* In Garhwal and Kumaun, the Gujjar cattle herders came to the dry forests of the bhabar in the winter,
and went to the high meadows, the Bugyals, in summer.

* Many of them were originally from Jammu and came to the UP hills in the 19th century’ in search of
good pastures.

* This pattern of cyclical movement between summer and winter pastures was typical of many pastoral
communities of the Himalayas.

Q.4 Name the pastoral communities of Africa. Where are they found ? What are their occupations ?
Answer: * The Bedouins, Berbers, Maasai, Somali, Boran and Turkana are some of the pastoral
communities of Africa.

* Most of them are found in semi-arid grasslands or arid deserts where rainfed agriculture is difficult.

* They raise cattle, camels, goats, etc. and sell their products like milk and meat. Others earn their living
through trade and transport. Some of then combine pastoral activity with agriculture while still others do
a variety of odd jobs to supplement their meagre and uncertain earnings.

Q.5 How did the Forest Acts change the life of pastoralists ?
Answer: The Forest Acts change the life of pastoralists in the following ways :

(a) Forest Acts were enacted to protect and preserve forests for timber which was of commercial
importance.

(b) They were now prevented from entering many forests that had earlier provided valuable forage for
their cattle. Even in the areas they were allowed entry, their movement were regulated.

(c) They were issued permits which monitored their entry into and exit from forests.
They could not stay in the forests as much as they liked because the permit specified the periods in which
they could be legally within a forest. If they overstayed they were liable to fines.
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GEOGRAPHY
CHAPTER-1
INDIA: SIZE AND LOCATION
*SIZE —1. India has land mass area of 3.28 million square km and occupies 2.4 per cent of total
geographicalarea of the world.
2. It has a land boundary of about 15,200 km. The total coastline length of main
landIndia,includingAndaman and Nicobar andLakshadweep, is 7,516.6km.
*LOCATION- 1. IndiaislyingentirelyintheNorthernhemisphere,
2. Thelandextendsbetweenlatitudes8°4‘Nand37°6‘Nandlongitudes68°7‘Eand97°25E.
3. The Tropic of Cancer (23° 30°N) divides India into almost two equal parts.
*Featuresof India:
>India isbounded bytheyoung fold mountainsin the northwest,north and northeast.
>t begins to taper around south of about 22° North latitude and extends towards the Indian
Ocean,dividing it into two seas, theArabian Seaon theWest and theBayof Bengal on its East.
>Thelatitudinal and longitudinal extent of the mainland is about 30°.
>There is a timelag of two hoursfrom Gujarat toArunachal Pradesh.
>TheStandard Meridian of India(82°30'E)passes through Mirzapur (inUttarPradesh).
Strategic location of India:The trans Indian Ocean routes connects thecountries ofEurope in theWest and
the countries of East Asia.
Close contact of India:
The Deccan Peninsula protrudes into the Indian Ocean which helps India to establish closecontact with
WestAsia,Africa and Europefrom the western coast and with Southeast and East Asia from the eastern
coast.
Eminent position of India in Indian Ocean: No other country has a long coastline on the Indian Ocean
like India.lt also justifies the nameing of an Ocean after it.
*India'sNeighbours:India occupies an important strategic position inSouthAsia.India shares its land
boundarieswith:Pakistan and Afghanistan in the Northwest..China(Tibet),Nepaland .Bhutan intheNorth..
Myanmar and Bangladesh inthe East.
Indiansouthern neighbours across the sea consist of the two island countries,namely SriLanka
andMaldives.
.SriLanka is separated fromIndia by a narrow channel of sea formed by thePalkStrait and the Gulf
ofMannar.
.Maldives Islands are situated to the South of the Lakshadweep Island.

30




MAP SKILLS-

T T T
= 55" L ME W'E o " o " [ [T BR® W a8 IR

TANKISTAN

INDIA
ADIACENT COUNTRIES

uBIFp) prEpdeis

&)yaW0nY FLIE

LAKEHAWEES
INDIIAY

. L) b
. (DR} "
-, . 3 o 4
3 | o o 200 1 . 0
v frangnst { s ; = e i N
[ INBrAN] TabE ANk oA
- "854 | 5 % e 1[\:.--4,] pd 0 400 200 km
{ I 1 L 1 L 2 ——— &
) 1 -

W°E 7 ki #0° K B b 9°E

|
I
1
I
|
[}
1
I
|
|
I
|
A
I
I
|
1
1
|
|
|
1
I
1

1. India is located in which continent?

a) Asia b) Europe

c) Africa d) North America

Answer: a) Asia

2. What is the northernmost latitude of the Indian mainland?

a) 36°6’N b) 37°6’N

c) 35°6’N d) 38°6’N

Answer: b) 37°6’N — The northernmost latitude of the Indian mainland is 37°6’N.
3. The main land of India extends between latitudes __and

a) 3°7’N and 10°1°N b). 6°8’N and 17°1’N

c.) 6°4’N and 28°6’N d). 8°4’N and 37°6’N

Answer: d). 8°4’N and 37°6’N

4. What are the longitudes in which India is located?
a). 108°8’E and 139°9’E  b.) 108°8’W and 108°8’W
c.) 68°7’E and 97°25’E d.) 68°7°W and 97°25°W
Answer: ¢).68°7°E and 97°25’E

5. What is the latitude which divides the country into two equal parts?

a) Tropic of Cancer, 23°30’N b) Tropic of Cancer, 18°30’N

¢) Tropic of Capricorn, 23°30°N  d) Equator

Answer: a.) Tropic of Cancer, 23°30°N

6. India’s Standard Meridian is 82°30’E. Which city does it pass through?
a) Allahabad b) Mirzapur

¢) Varanasi d) Lucknow

Answer:: b) Mirzapur

7. Which of these countries does not share a land boundary with India?
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a) Nepal b) Bhutan

c¢) Bangladesh d) Sri Lanka

Answer::d) Sri Lanka

8.What is the total length of India’s land boundary?

a) About 15,200 km b) About 14,500 km

¢) About 16,000 km d) About 15,000 km

Answer: a) About 15,200 km

9.Assertion (A): India is bounded by young fold mountains in the North-West, North and North-East.
Reason (R): The Himalayas lie in the Northern part of India.

Answer: . Both A and R are true and R is the correct explanation of A

10. Assertion (A): The latitudinal and longitudinal extent of the mainland is about 30° but the East-West
extent appears smaller than the North-South extent.

Reason (R): The North-South distance of India is 3214 km.

Answer . Both A and R are true but R is not the correct explanation of A.

SHORT ANSWER BASED QUESTIONS( 3 Marks)
1. Describe the implications of India’s longitudinal extent.
Answer:
(i).India’s geographical location is favourably important for international trade.
(i1).Due to its central location in the eastern hermisphere, India lies on the major trade routes.
(ii1).It has helped in establishing close cultural and commercial contacts with these countries.
2. What is meant by the Indian Standard Time? What is its importance?
Answer:
Indian Standard Time (1ST)-is that which is accepted all over India. We have accepted 82° 3(7 E
longitude as the Standard Meridian of India. It was accepted as it lies almost in the middle.
The Indian Standard Time has a great importance:
(1).It has prevented a lot of confusion and has brought harmony in time throughout the country.
(i1).The local time at each longitude is different. So in order to follow one timing, India has accepted the
82° 30’E as the Standard Meridian of India.
LONG ANSWER BASED QUESTIONS( 5 Marks)
1. Explain the significance of India’s eminent position in the Indian Ocean.
Answer:

(1).This helps India to establish close contact with west Asia, Africa, Europe from western coast and with
south-east and east Asia from the eastern coast.

(i1).The sea routes have contributed in the exchange of ideas and commodities.

(ii1).The ideas of Upanishads and Ramayana, Indian numerals and the decimal system could reach to
many parts of the world.

(iv).The spices, muslin and other merchandises were taken to other countries.

(v).Influence of Greek sculpture and styles of dome and minarets can be seen in our countiy.

2. How is India’s geographical location favorable for international trade?
Answer:
(i).Due to its central location at the head of the Indian Ocean, countries of East Africa, West Asia, South

and South-East Asia, and East Asia could be reached through sea routes.
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(i1).Unlike landlocked countries (surrounded by land on all sides), it has an easy access to the outside
world. The ocean routes from East and South-East Asia, and Australia to Africa, and Europe pass through
the Indian Ocean.

(ii1).India is connected with Europe, North America and South America through both the routes-the Cape
of Good Hope and the Suez Canal.

(iv).India can also reach Canada and USA through the Strait of Malacca after crossing the Pacific Ocean.
(v).India is favourably located on the world’s highway of trade and commerce both to the east and the
west.
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CHAPTER-2
PHYSICAL FEATURES OF INDIA

*India has all major physical features of the earth, i.e., mountains, plains, deserts, plateaus and islands.
The land ofIndiadisplaysgreatphysicalvariation.

MAJOR PHYSICAL FEATURES OF INDIA-

The Himalayan Mountains.

The Northern Plains.

The Peninsular Plateau.

The Indian Desert.

The Coastal Plains.

The Islands.

*TheHimalayan Mountains:

These are geologicallyyoung and structurally fold mountains which stretch over theNorthern borders of
India.

These mountain ranges run in a West-East direction from the Indus to the Brahmaputra.
They form an arc which covers about 2,400 Km.

Their width varies from 400Km in Kashmir tol 50Km in Arunachal Pradesh.
Altitudinal variations are greater in the Eastern half than those in theWestern half.
Longitudinal division of Himalaya:

U The Greator Inner Himalayas ortheHimadri

. Himachal orLesser Himalaya

. Outermost RangeShiwalik

*THE NORTHERN PLAINS-

. The Northern Plain has been formed by the interplay of the three major river systems namely —
the Indus,theGanga and the Brahmaputra alongwith their tributaries.

. It isformed of alluvial soil which makes it fertile and is a densely populated physiographic
division.

. It spreads over an area of 7lakh sq.km.

. It is about 2400 km long and 240 t0320 km broad.

. It is an agriculturally productive area due to rich soil cover combined with adequate water supply

and favourable climate.

>Division of the Northern Plain based onVariations inRelief Features:

Bhabar:. It is formed by the deposition of pebbles by rivers in narrow belt of about 8 to 16 km in width
lying parallel to the slopes of the Shiwaliks.

.All the streams disappear in this bhabar belt.

Terai: . It is a wet,swampy and marshy region formed South of the Bhabar region where the streams and
rivers re-emerge.

It is a thickly forested region full of wild life.For example, Dudhwa NationalPark.
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Bhangar: . It is the largest part of the northern plain and lies above the floodplains of the rivers and

presents a terrace like feature.

.The soil in this region contains calcareous deposits, locally known as kankar.

Khadar:.It is the newer and younger deposits of the flood plains.
.They are renewed almost every year and are ideal for intensive agriculture.

*ThePeninsularPlateau:.

It has two broad categories-

. The Central Highlands
° The Deccan Plateau

The Central Highlands - The Central Highlands is the part that lies to the North of the Narmada River

which covers a major area of theMalwa plateau.

.TheDeccanPlateau:

. The DeccanPlateau is a triangular landmass that lies to the South of the river Narmada.

| 1. They are formed on th western
side or arm of the peninsular
plateau.

3 They are regular and continuous
and can be crosses through passes
only.

; 3. They lie parallel to the Malabar
coast.

[fs They are comparatively higher in
elevation. Their average elevation is
200-1600 metres.

| 5. The highest peaks in the Western
Ghats are the Anai Mudi and the
Doda Betta.

| 1. They are formed on the eastern
side or arm of the peninsular
plateau.

[ 2 They are discontinuous and

irregular and dissected by rivers
draining into the Bay of Bengal.

3 They lie parallel to the

Coromandel coast.

| 4. They have comparatively lower

elevation. Their average elevation is
600 metres.

| 5. The highest peak in the Eastern

Ghats is Mahendragiri

*ThelndianDesert:

. The Indian Desert lies towardsthewestern margins of theAravali Hills.

. It isa undulating sandy plain covered with sand dunes and receives very low rainfall below150mm
per year.

. It has arid climate and streams appear during the rainy season.

. Luni isthe only large river in this region.

*CoastalPlains:

The Peninsular plateau is flanked bystretch of narrow coastal strips, running alongthe Arabian Sea onthe

West and the Bayof Bengal on theEast.
WesternCoast:

It is a narrow plain sandwiched between the Western Ghats and the Arabian Sea.

It consists of three sections:
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. Konkan(Mumbai—Goa): It is the northern part of the coast.
° Kannad Plain: It is the central streth.
) Malabar Coast:It is the southerns tretch.

EasternCoast:Their plains are wide and level. Its northern part is referred to as the Northern Circar and
thesouthernpartis known asthe Coromandel Coast.

° TheMahanadi,theGodavari,theKrishnaand theKaveri have formed extensivedeltaonthis coast.
. LakeChilika is an important feature along the eastern coast.
Islands:

Indiahastwo groupsofislands:

. Lakshadweep IslandsGroup:

>It lies close totheMalabar coast ofKerala and is composed of small coral islands.

>Earlier they were known as Laccadive, Minicoy and Amindive and these were name dasLakshadweep in
1973.1t covers small areaof 32sq km.

>Kavaratti island is the administrative head quarters of Lakshadweep.

> It has great diversity of flora and fauna

>The Pitli island,which is uninhabited,has a bird sanctuary.

. Andamanand Nicobarlslands:

>These are elongated chain of islands located in the Bay of Bengal extending from North to South.They
are bigger in size and are more numerous and scattered.

>These are divided into two broad categories—TheAndaman in theNorth and theNicobar in the south

>t is believed that thesei slandsare an elevated portion of submarine mountains.

>These islands have great diversity of flora and fauna and lie close toEquator andexperience equatorial
climate.

Interestin gpoints

Doab':It is made up of two words - 'do' meaningtwo and'ab'meaningwater.Similarly,'Punjab',isalso made
up of two words- 'Punj'meaning five and 'ab'meaning water.

Majuli ,in the Brahmaputra River, is the largest inhabited riverine island in the world.

Chilika Lake: It is the largest salt-water lake in India and lies in the Odisha, to the south of the Mahanadi
delta.

India's only active volcano is found on Barren Island in Andaman and Nicobar Islands.
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QUESTIONS & ANSWERS(MCQ)

1.Which mountain range forms the northern boundary of India?
a) Himalayasb) Western Ghats
c) Aravalli Ranged) Eastern Ghats
Answer: a) Himalayas
2. The Great Indian desert is located in which state?
a) Rajasthanb) Gujarat
c¢) Punjabd) Haryana
Answer a) Rajasthan
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3. The largest delta in India is formed by which river?

a) Narmadab) Brahmaputra

¢) Yamunad) Godavari

Answer b) Brahmaputra

4. Which of the following is the oldest mountain range in India?
a) Aravalli Rangeb) Western Ghats

c) Eastern Ghatsd) Himalayas

Answer a) Aravalli Range

5.The largest freshwater lake in India is:

a) Dal Lake b) Chilika Lakec) Vembanad Lake d) Wular Lake
Answer d) Wular Lake

5. is known as the "Land of Five Rivers" in India.

6. a)Punjab b) Haryana

7. c¢) Uttar Pradesh d) Bihar

8. Answer a) Punjab
9. 7. The Palk Strait lies between India and:
10. a) Sri Lanka b) Maldives
11. ¢) Bangladesh d) Myanmar
12. Answer a) Sri Lanka
13. 8. Which river flows through the valley known as "Ladakh"?
14. a) Indus b) Brahmaputra
15. ¢) Yamuna d) Ganges
Answer a) Indus
9. Assertion (A): The Peninsular plateau is one of the oldest landmasses of the earth.
Reason (R): It is separated from the coastal plains by Eastern and Western Ghats.
Answer .Both A and R are correct but R is not the correct explanation of A
10. Assertion (A): The Indian desert is an undulating sandy plain covered with sand dunes.
Reason (R): The rivers draining this region are the Chambal, the Sind, the Betwa and the Ken.
Answer .A is correct but R is wrong
SHORT ANSWER BASED QUESTIONS( 3 Marks)
1.Name the three parallel ranges of the Himalayas and give their other names.
Answer:(i).The Himadri (Greater Himalayas),
(i1).The Himachal (Lesser Himalayas),
(ii1). The Shiwaliks (Outer Himalayas).
2. Why are the Northern Plains primarily an agricultural belt?
Answer:
(i).The Northern Plains have a thick soil cover composed of fine silt or alluvium brought down by
the Himalayan rivers.
3. (i1).This alluvial soil is very fertile. Hence, this is primarily an agricultural belt3. Name the
southernmost range of Himalaya. Mention any four features of this range.
Answer:
The southernmost range of Himalayas is called Shiwaliks.
Features:(i).The outermost range of the Himalayas is called the Outer Himalayas or
Shiwaliks.(ii).They extend over a width of 10-15 km.
4. (iii).Their altitude varies between 900-1100 metres.
5. (iv).They are discontinuous ranges and are composed of unconsolidated sediments, gravel and
alluvium brought down by the rivers from main Himalayan ranges located farther north.
6. 4. How did the northern plains come to existence? Write two points briefly
7. Answer:
(1).The northern plains have been formed by the interplay of the three major river systems, i.e., the
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10.
11.

Indus, the Ganga and the Brahmaputra.
(i1). The northern plain is formed of the alluvial soil brought by these rivers.
5. Explain the formation of the Peninsular Plateau. Write any four of its distinct features.
Answer:
The Peninsular Plateau was formed due to the breaking and drifting of the Gondwana land. It is a
tableland composed of the old crystalline, igneous and metamorphic rocks.
(1).It has broad and shallow hills, valleys and rounded hills.
(ii.) It consists of the two broad divisions namely, the Central Highland and Deccan Plateau.
(i1).It has black soil area known as Deccan Trap which is of volcanic origin.
(iv) The flow of rivers is westward.
LONG ANSWER BASED QUESTIONS( 5 Marks)
1. Describe any five features of northern plains of India.
Answer:
Features of northern plains of India are:
(i).The northern plains have been formed from the alluvium deposited by the mountain rivers.
(i1).They are located between the Himalayan rivers in the north and the Peninsular Plateau in the
south.
(iii). They turned the soil on the surfaced land fertile for growing a rich harvest of variety of crops.
This led to the development of the Indus river valley civilization.
(iv).They are made up of deposits of alluvium and cover an area of lakhs square km.
(v).They are densely populated physiographic division of India and are believed to be highly
productive in terms of agriculture.
2. What are Purvanchal hills ? Mention any two features of these hills.
Answer:
Mountains along the eastern boundary of India are called the Purvanchal.
Features:

(1).They comprise of sandstone and sediments.
(i1).They are covered with dense forests.
(ii1). They comprise of Patkoi Hills, Manipur hills etc.

2.

Explain the formation of the Peninsular Plateau. Write any four of its distinct features.

Answer:

The Peninsular Plateau was formed due to the breaking and drifting of the Gondwana land. It is a
tableland composed of the old crystalline, igneous and metamorphic rocks.

(1).It has broad and shallow hills, valleys and rounded hills.

(i1).It consists of the two broad divisions namely, the Central Highland and Deccan Plateau.
(ii1).It has black soil area known as Deccan Trap which is of volcanic origin.

(iv).The flow of rivers is westward.

4. “Each physiographic region of India complements the other and makes the country richer in its
natural resources.” Justify this statement with five examples..

Answer:

Importance of diverse physical features of India is as follows:

(1).The northern mountains are the major sources of water and forest wealth.

(i1).The northern plains are the granaries of the country. They provide the base for early
civilisations.

(ii1). The plateau is a storehouse of minerals which has played a crucial role in the industrialisation
of the country.

(iv).The coastal region and island groups provide sites for fishing and port activities.

(v).The deserts are the storehouse of solar energy.
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CHAPTER- 3

DRAINAGE

DRAINAGE- Small streams flowing from different directions come together to form the main river

which ultimately drains into a large water body such as a lake or a sea or an ocean.

Drainage Systems in India:

It is controlled by broad relief features of Indian subcontinent. Accordingly, the Indian rivers are divided

into two major groups-the Himalayan rivers and the Peninsular rivers.

Difference between The Himalayan Rivers and The Peninsular Rivers

Himalayvan rivers Peninsular rivers
= Originate from the Himalayan mountain = Onginate from the mountain ranges in
ranges the peninsular plateau.
= Extensive catchment area = Comparatively smaller catchment area
= Intensive erosion = Intensity of erosion is less
= Create gorges in the mountain region and = Do not create deep valleys as they flow
meander in plains through hard and resistant rocks
= High irmigation potential = Lessirmigation potential
= Nawvigable along the plains = Potential for inland navigation is low
HimalayanRiverSystem
The Indus River
TheGanga RiverSystem

Yamuna River

.TheBrahmaputraRiverSystem:

ThePeninsularRivers:

.TheNarmada Basin

TheTapi Basin

TheGodavari Basin:

It is largest peninsular river and rises from the slopes of the Western Ghats in the Nasik district
ofMaharashtra.

The Mahanadi Basin

.The Krishna Basin

The Kaveri Basin

Role of Rivers in theEconomy:

>Water from rivers is a basic natural resource which Is essential for various human activities.

>These are used for irrigation, navigation, hydro-power generation which helps to a country likeIndia

where agriculture is the major source of livelihood of the majority of its population.
RiverPollution:

>River'swater quality is naturally affected by the growing domestic,municipal, industrial and agricultural

demand.
>The volumeof rivers is reducing as more and morewater is being drained out of it.

>Untreated sewage and industrial effluents affect not only the quality of water but also the self-cleansing

capacityof the river.
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MCQ.
1. The city located on the water divide between the Indus and the Ganga river system is
(a) Jabalpur (b) Ambala
(c) Meerut (d) Chandigarh
Answer: (b) Ambala
2. Which river is called the Dihang when it enters India in Arunachal Pradesh
(a) The Ganga (b) The Brahmaputra
(c) The Indus (d) The Kaveri
Answer: (b) The Brahmaputra
3. Which one of the following peninsular river of India flows west and makes estuaries?
(a) The Krishna (b) The Mahanadi
(c) The Godavari (d) The tapi
Answer: (d) The tapi
4. Which one of the following lake is artificial?
(a) Sambhar (b) Chilika
(c) Pulicat (d) Rana Pratap sagar
Answer: (d) Rana Pratap sagar
5. Which of the peninsular rivers is called the ‘Dakshin Ganga’?
(a) The Mahanadi (b) The Krishna
(c) Godavari (d) tha tapi
Answer: (¢) Godavari
6. The drainage basin of the Mahanadi is not shared by
(a) Madhya Pradesh (b) Maharashtra
(c) Chhattisgarh (d) Jharkhand
Answer: (a) Madhya Pradesh
7. Which one of the following lakes is a salt water lake?
(a) Sambhar (b) Dal
(c) Wular (d) Gobind Sagar
Answer: (a) Sambhar
8. The Vembanad Lake is located in
(a) Kerala (b) Andhra Pradesh
(c) Tamil Nadu (d) Odisha
Answer: (a) Kerala

9. Assertion (A):The Ganga is joined by many tributaries from the Himalayas, a few of them being major
rivers such as the Yamuna, the Ghaghara, the Gandak and the Kosi.

Reason (R):The river Yamuna rises from the Gangotri Glacier in the Himalayas. It flows parallel to the
Ganga and as a right bank tributary, meets the Ganga at Allahabad.

Answer :( A) is correct but (R) is wrong.

10. Assertion (A):Apart from originating from the two major physiographic regions of India, the
Himalayan and the Peninsular Rivers are different from each other in many ways.

Reason (R): The drainage systems of India are mainly controlled by the broad relief features of the
shallower courses as compared to their Himalayan counterparts.
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Answer: Both (A) and (R) are true but (R) is not the correct explanation of (A).

SHORT ANSWER BASED QUESTIONS ( 3 Marks)

1. Write the salient features of the Ganga-Brahmaputra delta.

Answer:

The salient features of the Ganga-Brahmaputra delta are :

(1).It is the largest delta of the world on the mouth of the Bay of Bengal.

(i1).This has formed owing to split of the Ganges and the Brahmaputra in several rivulets i.e.,
distributaries.

(iii).Its lower portion is marshy owing to mess up of the sea and the freshwater together.
(iv).It is the most fertile and densely populated delta.

2. What are the major sources of river pollution?

Answer:

The major source of river pollutants are :

(1).A heavy load of untreated sewage and industrial effluents are emptied into the river.
(i1).The leakage of oil from ships.

(ii1).Excessive use of pesticides and chemical fertilisers.

3. Which river is known as ‘Dakshin Ganga’? Describe its main features.

Answer:

The Godavari river is known as the ‘Dakshin Ganga’.

The main features of the river Godavari are :

(1).It is the largest Peninsular river, which rises from the slopes of the Western Ghats in the Nasik district
of Maharashtra.

(i1).Its length is about 1500 km that drains into the Bay of Bengal.

(iii.)A number of tributaries joins the Godavari river such as the Purna, the Wardha, the Penganga, the
Manjra, the Wainganga, and the Pranhita.

4. Describe the three main features of the Narmada basin.

Answer:

The river Narmada emerges from the Amarkantak hills in Madhya Pradesh.

The main features of the Narmada basin are :

(1).It flows towards the west in a rift valley formed due to faulting.

(i1).It creates many picturese location like the Marble Rocks near Jabalpur and Dhuandhar Falls.
(ii1).All the tributaries of the Narmada are very short and most of them join the main stream at right
angles. The Narmada Basin covers parts of Madhya Pradesh and Gujarat.

5. Mention some of the characteristics of the lakes.

Answer:

(1).India has many lakes.

(i1). These differ from each other in size and other characteristics.

(ii1).Most lakes are permanent; some contain water only during the rainy season, like the lakes in the
basins of inland drainage of semi-arid regions.

(iv).There are some lakes which are the result of the action of glaciers and ice sheets, while the others
have been formed by wind, river action, and human activities.
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LONG ANSWER BASED QUESTIONS(5S Marks)
1. Why are the rivers considered as the lifeline of human civilization?
Answer:

The Rivers are considered as the lifeline of human civilization because of the following reasons.
(i).Abundant Supply of Drinking Water : The rivers and lakes fulfill the basic need of all living being
including, human beings.
(i1).Water for Irrigation: Rivers are the main source of irrigation. :
(ii1).Navigation: Rivers are the cost-free means of water transportation of goods and people from one
place to another.
(iv).Biologically Productive Areas: Most of the estuaries formed at the meeting point of freshwater and
saline water of the sea. These are found in the most suitable places for fish breeding.
(v).Source of Generation of Hydro-Powe : Rivers are an abundant source of generating electricity. Large
dams have been built for this purpose.
2. In what different ways do rivers get polluted?
Answer:
Rivers get polluted in the following ways :
(1). The growing domestic, municipal, industrial and agricultural demand for water from rivers naturally
affects the quality of water.
(i1). The volume of river is also reduced because more and more water is being drained out of the rivers.
(ii1).A heavy load of untreated sewage and industrial effluents are emptied into the rivers. This affects not
only the quality of water but also the self-cleansing capacity of the river.
(iv).The increasing urbanisation and industrialisation also contribute to the river pollution.
(v).Dumping of garbage into the streams is another cause of river pollution. They are changing the life-
giving rivers into toxic streams.
3. Why do the Himalayan rivers get flooded every year? What are its advantages?
Answer:
(1).The Himalayan rivers receive water from the melted snow from the lofty mountains as well as from
rain.
(i1).During monsoons, due to heavy rainfall, these rivers get flooded every year.
Advantages:
(1). The Himalayan rivers flood parts of the northern plains enfiching the soil for the extensive agricultural
lands.
(i1).Various food crops and cash crops are grown in these fertile lands.
4. Why are most of the Peninsular rivers draining into the Bay of Bengal? Give reasons. Name the two
rivers draining into the Arabian Sea.
Answer:
(1) (a) The main water divide in Peninsular India is formed by the Western Ghats, which runs
from north to south close to the western coast..

(b) The Deccan Plateau is higher in the west and slopes gently eastwards.
Thus, most of the peninsular rivers such as Mahanadi, the Godavari, the Krishna and the Kaveri flow
eastwards and drain into the Bay of Bengal.
(i1) The river Narmada and river Tapi drain into the Arabian Sea.
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CHAPTER4
CLIMATE

*Climate refers to the sum total of weather conditions and variations over a large area for a long period
of time (more than thirty years).

* Weather refers to the state of the atmosphere over an area atany point of time. Their elements are
temperature, atmospheric pressure, wind, humidity andprecipitation.

Factors affecting India'sClimate:

Latitude:

The Tropic of Cancer passes through the middle of the country from the Rann of Kuchchh in theWest to
Mizoram in the East.

India's climate has characteristics of tropical as well as subtropical climates.

Altitude:

India has high Himalayan ranges (average height of about 6,000metres) inNorth,which protect India from
cold winds of central Asia.

PressureandWinds:

Theclimate and associated weather conditions in India are governed by following atmospheric conditions:
>Pressure and surfacewinds.

>Upper air circulation.

>Western cyclonicdisturbances and tropical cyclones.

India liesin the region of northeasterly winds.

North EasterlyWinds:

These winds originate from the subtropical high-pressurebelt of the northern hemisphere.

They originate and blow overland as they blow southwards, get deflected to the right due to the
Coriolisforce, and move towards the equatorial low-pressure area.

THE SEASONS-

Four main seasons can be identified in India-

(A) THE COLD WEATHER SEASON(THE WINTER)
(B) THE HOT WEATHER SEASON(SUMMER)
(C) ADVANCINGMONSOON (THERAINYSEASON):

(D) RETREATING/POST MONSOON (THE TRANSITION SEASON):

DistributionofRainfall:

>Western coast and north-easternIndia receive over about 400cm of rainfall annually where as Rajasthan
and some parts of Gujarat has less than 60 cm.

>Rainfall isequally low in the interior of theDeccan plateau,and east of theSahyadris.

>Variability of rainfall is high in the regions of low rainfall such as parts of Rajasthan,Gujarat and the
leeward sideof the Western Ghats.
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1. Major rainfall occurs in India due to?

(a) Southwest monsoon winds(b) Northwest monsoon winds
(c) Northeast monsoon winds(d) None of the above
Answer: (a) Southwest monsoon winds

2. The cause of western disturbances is ?

(a) Westerly Jet stream(b) Easterly Jet stream

(c) Both of the above(d) None of the above

Answer: (a) Westerly Jet stream

3. When India has winter, the sun vertically shines over ?
(a) Tropic of Capricorn(b) Tropic of Cancer

(c) Equator(d) None of the above

Answer: (a) Tropic of Capricorn

4. Pre-monsoon showers in Kerala are known as ?

(a) Kaal Baisakhi(b) Bardoli Chheerha

(c) Mango showers(d) Loo

Answer: (¢c) Mango showers

5. Which one of the following places receives the highest rainfall in the world?
(a) Silchar (b) Mawsynram

(c) Cherrapunji(d) Guwahati

Answer: (b) Mawsynram

6. Tropical depressions occur in
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a). Bay of Bengal b). Bay of Bengal and NW of India

¢) NW of India.d) Arabian Sea

Answer: (a). Bay of Bengal

7.In the month of March-April the low pressure shifts from

(a). Deccan to North-East (b) Tropic of Cancer to the Equator

(c) Deccan to North-West (d). East to west.

Answer: (c) Deccan to North-West

8.The Bay of Bengal branch of SW monsoons is directed towards

(a). Brahmaputra valley and Coromandel Coast

(b). Ganga plains and eastem coastal plains

(c) Ganga plains and Brahmaputra valley

(d) Thar and Kutch

Answer: ¢) Ganga plains and Brahmaputra valley

9. Assertion (A): We feel comfortable in hot and humid climate.
Reason (R): Sweat evaporates faster in humid climate.

Answer: Both A and R are false.

10. Assertion (A): Even though only the southern part of India lies in tropical region, almost the whole of
India experiences tropical climate.

Reason (R): The Himalayan mountains act as a barrier and prevent the northerly cold winds from
entering India.

Answer: Both A and R are true and R is the correct explanation of A

SHORT ANSWER BASED QUESTIONS(3 Marks)
1. “India has diverse climatic conditions”Support this statement by giving examples, each of
tempera—ture and precipitation.
Answer:

(1)The mercury occasionally touches 50°C in the western deserts, and it drops down to as low as -45°C in
winter around Leh.

(i) The annual precipitation is less than 10 cm in the north-west Himalayas and the western desert. It
exceeds 400 cm in Meghalaya.

(iii))Most parts of the country receive rainfall from June to September, but some parts like the Tamil Nadu
coast get most of its rain during October and November.

2. Explain development of Monsoon Trough and its influence over rainfall distribution.

Answer:

(1) It is a region of low atmospheric pressure which develops because of excessive heat.

(i1 )It brings a remarkable change in rainfall pattern.

(iii) It is responsible for dry and wet spells of monsoon.
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3. Read the source given below and answer the questions that follow:The climate of a region is
determined by various factors such as latitude, altitude, distance from the sea, and the presence of
mountain ranges. India has a diverse climate due to its vast geographical extent and these influencing
factors. The major climatic regions in India include the tropical monsoon, tropical savanna, humid
subtropical, hot desert, and alpine climates. The tropical monsoon climate dominates most of India,
characterized by distinct wet and dry seasons. The southwest monsoon, which brings rainfall to the
country, is a significant feature of this climate. The Himalayan region experiences an alpine climate with
cold winters and cool summers. The Thar Desert in Rajasthan represents the hot desert climate, with
extremely high temperatures and low rainfall. Understanding the different climatic regions is crucial for
agriculture, planning, and adapting to the local environment.

Answer the following questions
1.Which mansoon brings the rainfall to the country?
Answer: The southwest monsoon
2. Which is the hot desert?
Answer: The thar desrt in Rajasthan.
3.How does mansoon beneficial to agriculture and planning?
Answer: (i) It provide water for irrigation.
(i1) It provide water in rivers and ponds for storage development.
4. How does the latitude affect India’s climate?
Answer:
(1) The Tropic of Cancer passes almost from the middle of the country.
(i1) Almost half of the country, lying south of the Tropic of Cancer, belongs to the tropical area.
(ii1) All the remaining area in the north of the Tropic lies in the sub-tropical area. Therefore, India’s
climate has characteristics of tropical as well as sub- tropical type of climate.
5. “Monsoon acts as a unifying bond”. Explain.
Answer:
(1)The seasonal alteration of the wind systems and the associated weather conditions provide a rhythmic
cycle of seasons. Even the uncertainties of rain and uneven distribution are very much typical of the
monsoons.
(i1)The Indian landscape, its animal and plant life, its entire agricultural calendar arid the life of the
people, including their festivities, revolve around this phenomenon. Year after year, people of India from
north to south and from east to west, eagerly await the arrival of the monsoon.
(ii1)These monsoon winds bind the whole country by providing water to set the agricultural activities in
motion. The river valleys which carry this water also unite as a single river valley unit

LONG ANSWER BASED QUESTIONS( 5 Marks)

1. Explain the factors affecting India’s climate.
Answer:

(i)Latitude : The Tropic of Cancer passes through the middle of the country from the Rann of Kuchchh in
the west to Mizoram in the east. Almost half of the country, lying south of the Tropic of Cancer, belongs
to the tropical area. All the remaining area, north of the Tropic, lies in the sub-tropic. Therefore, India’s
climate has characteristics of tropical as well as subtropical climates.
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(i)Altitude: India has mountains to the north which have an average height of about 6,000 metres. India
also has a vast coastal area where the maximum elevation 1% about 30 metres. The Himalayas prevent the
cold winds from Central Asia from entering the subcontinent. It is because of these mountains that this
subcontinent experiences comparatively milder winters as compared to central Asia.

(iii)Pressure and Winds: The pressure and wind conditions over India are unique. During winter, there is
a high-pressure area north of the Himalayas. Cold dry winds blow from this region to the low-pressure
areas over the oceans to the south. In summer, a low-pressure area develops over interior Asia as well as
over northwestern India. This causes a complete reversal of the direction of winds during summer. Air
moves from the high-pressure area over the southern Indian Ocean, in a south-easterly direction, crosses
the equator, and turns right towards the low-pressure areas over the Indian subcontinent. These are known
as the Southwest Monsoon winds. These winds blow over the warm oceans, gather moisture and bring
widespread rainfall over the mainland of India.

2. Give reason for the following:

(i) Thiruvananthapuram has the year equable climate.

(i1) Delhi has extreme climate.

(ii1) The Tamil Nadu coast receives winter rainfall.

(iv) Leh has moderate precipitation almost through-out the year.

(v) The delta region of the eastern coast is frequently struck by cyclones.

Answer:

(1) It has equable climate due to proximity to sea. Sea has moderating influence over its climate.

(i1) Because Delhi is far away from sea. As the distance from the sea increases,its moderating influence
decreases.

(ii1) Tamil Nadu receives rainfall from North-east trade winds.

(iv) Leh is at a very high altitude. During the cold weather season, the ‘Western Disturbances’ contribute
to heavy snowfall in this region. Both south-west and south—east monsoons also cause precipitation in
this part.

(v) The low pressure conditions of the North shifts to the Bay of the Godavari, the Krishna and the
Kaveri.
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CHAPTER-5

NATURAL VEGETATION AND WILDLIFE
ONLY MAP WORK WILL BE EVALUATED
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CHAPTER- 6

POPULATION
*Characteristics or qualities of the population:
Population Size and Distribution
India‘sPopulationSizeandDistributionbyNumbers
.As of March 2011, India‘s population was1,210.6 million which accounts for17.5% of the world‘s
population.
.Uttar Pradesh is the most populous state of India as it counts about 16% of the country‘s population.
.Almost half of India‘spopulation lives in just five stateswhich are UttarPradesh,Maharashtra,Bihar, West
Bengal and Andhra Pradesh
ProcessesofPopulationChange/Growth
Three main processes of change of populationare:
Birth Rates
DeathRates
Migration
AgeComposition
The age composition of apopulation refers to the number ofpeople in different age groups in a
country.The population of a nation is grouped into 3 broad categories:
Children(generallybelow 1 5years)
Working Age (15-59 years)
Aged(Above59years)
Sex Ratio
It is defined as the number of females per1 000 malesin the population.Sex Ratio is an important social
indicator to measure the extent of equality between males and females in a society at a given time.
LiteracyRates
According to theCensus2011,a person aged7 years and above,whocan read and write with understanding
in any language, is treated as literate. India‘s literacy rate is 73% as per the census of 2011.
OccupationalStructure
The distribution of the population according to different types of occupation is referred to as the
occupational structure. Occupations are classified as:
Primary:Primary activities include agriculture,animal husbandry,forestry,fishing,mining and
quarrying,etc
Secondary: Secondary activities include manufacturing industry, building and construction work, etc.
Tertiary: Tertiary activitiesinclude transport,communications,commerce,administration and other
services.
Health
Health is an important component of population composition,which affects the process of
development.The substantial improvement in Public Health in our country is the result of many factors
such as:
Prevention of infectious diseases
Application of modern medical practices diagnosis and treatment of ailments
Adolescent Population
NationalPopulationPolicy
The National PopulationPolicy(NPP)2000 provides a policy frame work for-
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JImparting free and compulsory school education up to 14 years of age.

It also helps in reducing infant mortality rate to below30per1000 livebirths

.Achieving universal immunization of children against all vaccine-preventable diseases .Promoting
delayed marriageforgirls,andmaking familywelfare a people-centred programme.
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MCQ QUESTIONS AND ANSWERS
1.Which of the following terms is used to refer to the average number of persons per square kilometre?
a) Literacy rateb) Population density
c) Birth rated) Death rate
Answer: b) Population density
2. Which of the following regions has the highest population density in the world?
a) North Americab) Asia
c) Africad) South America
Answer: b) Asia
3. Which of the following factors is not responsible for the uneven distribution of population in India?
a) Physical featuresb) Climate
¢) Cultural factorsd) Government policies
Answer d) Government policies
4. What is the main reason for the high population density along the river valleys and plains in India?
a) Availability of water resourcesb) Fertile soil for agriculture
c) Better transportation facilitiesd) All the above
Answer d) All the above
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5. Which of the following is an example of a densely populated rural region in India?
a) Thar Desertb) Western Ghats
¢) Gangetic Plainsd) Eastern Himalayas
Answer c¢) Gangetic Plains
6. Whats the term used to describe the movement of people from one country to another country?
a) Emigrationb) Immigration
c¢) Urbanisationd) Migration
Answer d) Migration
7. Which of the following states in India has the lowest literacy rate as per the 2011 census?
a) Keralab) Bihar
c¢) Maharashtrad) Tamil Nadu
Answer b) Bihar
8. Which of the following is a measure of the quality of population?
a) Birth rateb) Death rate
¢) Life expectancyd) Infant mortality rate
Answer c) Life expectancy
9.Assertion (A) : The quality of population depends upon the literacy rate, health of a person indicated
by life expectancy and skill formation aquired by the people of the country.
Reason (R) : The quality of the population ultimately decides the growth rate of the country. Literate and
heathy population are an asset.
Answer Both A and R are true and R is the correct explanation of A.
10.Assetion (A) : Seasonal unemployment happens when people are not able to find jobs during some
months of the year.
Reason (R) : People dependent upon fishing usually face such kind of problem.
Answer A is true and R is false.
SHORT ANSWER BASED QUESTIONS( 3 Marks)
1. Describe the basic factors affecting the population of India.
Answer:
The basic factors affecting the population of India are as under :
(i).Birth Rate: It is the number of live births per 1,000 individuals of a population per annum. It
increases both population size and population density.
(ii).Death or Mortality Rate: It is expressed as the number of death per 1,000 individuals of a
population per year. It decreases both population size and population density.
(iii).Migration: Migration is the movement of the people across regions and territories. Migration can be

internal or international.

2. How do you classify occupations?

Answer:Occupations are, generally, classified as primary, secondary and tertiary activities.

(i).Primary activities include agriculture, animal husbandry, forestry, fishing, mining, etc.
(i1).Secondary activities include manufacturing industry, building and construction work, etc.

(iii). Tertiary activities include transport, communications, commerce, administration and other services.
3. Give division of the population of a nation into three broad categories based on age composition.
Answer:The population of a nation is generally grouped into three broad categories :

(1)Children (below 15 years): This group is economically unproductive. They need to be provided with
food, clothing, education and medical care.
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(i))Working Age (15 to 59 years): They are economically productive and biologically reproductive. This
group bears the burden of children and aged people.
(iii))Aged (above 59 years): They can be economically productive through they may have retired.

4. What factors should be considered while studying about population?
Answer:The following factors should be considered while studying about population :
(i)Population size and distribution : How many people are there and where are they located?
(ii)Population growth and processes of population change : How has the population grown and changed
through time?
(iii)Characteristics or qualities of the population : What are their age, sex composition, literacy levels,
occupational structure and health conditions?

LONG ANSWER BASED QUESTIONS(S Marks)
1. What is the relationship between occupational structure and development?
Answer:
(i) The proportion of people working in different activities varies in developed and developing countries.
(i) Developed nations have a high proportion of people engaged in secondary and tertiary activities.
(ii1) Developing countries tend to have a higher proportion of their workforce engaged in primary

activities.

(iv) In India, about 64 per cent of the population is engaged only in agriculture.

(v) The proportion of population dependent on secondary and tertiary sectors is also less in India.
(vi) Now, however, there has been an occupational shift in favour of the secondary and tertiary sectors
with the growing industrialisation and urbanisation in recent times.

2. Which areas are sparsely populated in India and why?

Answer:

Sparsely populated areas of India are high mountain regions of Jammu and Kashmir and Arunachal
Pradesh and desert parts of Rajasthan.

Reasons:

(1) Extremely cold climatic condition, which makes living difficult.

(i1) High and snow covered areas do not favour any kind of habitation.

(ii1) There are few regions which are fertile but they, too, are small and scattered. Besides that, it is
difficult to approach these areas since there are no good means of transportation and communication
available.

(iv) Desert area of Rajasthan is arid, hot and dry region. It has sandy soils, not suitable for cultivation.
3. What could be the reason of uneven distribution of population in India?

Answer:

The following examples show why distribution of population in India is uneven
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(i) Fertility of the soil and availability of water in the Northern Plains and Kerala causes a large number
of people to be employed in agriculture.

(i) An undulating terrain and mountainous areas of Arunachal Pradesh, Mizoram and Jammu and
Kashmir do not provide much scope of a livelihood and so they have a low population density.

(iii) An equable climate and reasonable amount of rainfall in most of the coastal states favour people
living in such areas. Thus they have a moderate population density.

(iv) A harsh climate like the desert of Western Rajasthan deters people from living in such locations,
leading to a sparse population there.

(v) Development of transport, industrialization and urbanisation in urban areas increases the population
density in such areas.
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CHAPTER 1
WHAT IS DEMOCRACY? WHY DEMOCRACY?
OVERVIEW:
Democracy is the most prevalent form of government in the world today and it is expanding to more
countries.
1.1 WHAT IS DEMOCRACY?
>Democracy is a form of government in which the rulers are elected by the people.
>We have started with a simple definition that democracy is a form of government in which the rulers are
elected by the people.
>Myanmar where the army rules, Dictator Pinochet’s rule in Chile was not democratic. They were not
chosen by the people.
>Hereditary kings, like the king of Nepal or Saudi Arabia, are also not democratic rulers.
They rule because they were born into noble families.
1.2 FEATURES OF DEMOCRACY
1. 1). Major decisions by elected leaders:
In a democracy, the final decision-making power must rest with those elected by the people.
In Pakistan, President Musharraf has the power to dismiss national and state assemblies;
So the final powers rest with the army and the General himself. We cannot call it a Democracy.
2. Free and fair electoral competition:
Holding elections of any kind is not sufficient. The elections must offer a real choice between political
alternatives. And it should be possible for people to use this choice to remove the existing rulers, if they
wish so. So, a democracy must be based on a free and fair election where those currently in power
have a fair chance of losing.
For example, in Mexico elections have been held every six years since 1980. But the same
Party, PRI, has won the elections. Obviously there has been rigging and malpractices, withFreedom
denied to opposition. This is not what a democracy should be.
3. One person, one vote, one value:
1. Earlier, we read about how the struggle for democracy was linked to the demand for
universal adult franchise. This principle has now come to be accepted almost all over the world. Yet there
are many instances of denial of equal right to vote.
2. Democracy is based on a fundamental principle of political equality. That gives us the third
feature of democracy: in a democracy, each adult citizen must have one vote and each vote must have
one value.

4. Rule of law and respeét for rights-
>Popular governments can be undemocratic. Popular leaders can be autocratic.
>[f we wish to assess a democracy, it is important to look at the elections.
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>But it is equally important to look before and after the elections. There should be sufficient room for
normal political activity including political opposition, in the period before election This requires that
the state should respect some basic rights of the citizen.
They should be free to think, to have opinions, to express these in public, to form associations,
to protest and take other political actions.
Everyone should be equal in the eyes of law.
These rights must be protected by an independent judiciary whose orders are obeyed by
everyone. A democratic government rules within limits set by constitutional law and citizens’rights.
Summary definition
1. Democracy is a form of government in which the rulers are elected by the people:
Accordingly, democracy is a form of government in which:
Rulers elected by the people take all the major decisions;
Elections offer a choice and fair opportunity to the people to change the current rulers;
This choice and opportunity is available to all the people on an equal basis; and
. The exercise of this choice leads to a government limited by basic rules of the constitution and
citizens’ rights.
Why Democracy?
Arguments against democracy:
This conversation has most of the arguments that we routinely hear against democracy. Let us
go over some of these arguments:

N U AW

1. Leaders keep changing in a democracy leading to instability.

2. Democracy is all about political competition and power play, leaving no scope for morality.
Money and muscle power can influence elections and decision-making.

3. Many people have to be consulted in a democracy that leads to delays.

4. Elected leaders do not know the best interest of the people, resulting in bad decisions.

5. Democracy leads to corruption since it is based on electoral competition.

6. Ordinary people don’t know what is good for them; they should not decide anything From these

arguments, we can see that democracy of the kind we see may not be the ideal form of government.
However, we will see if democracy is better than other forms of government that are there for us to
choose from.

Arguments for democracy:

1. A democratic government is a better government because it is a more accountable form of
government.

2. Elected representatives are more responsive to the needs and opinions of the citizens.

3. Democracy improves the quality of decision-making.

4. Democracy provides a method to deal with differences and conflicts.

5. Democracy enhances the dignity of citizens.

Finally, democracy is better than other forms of government because it allows us to correct
itsownmistakes.
Broader Meanings of Democracy

1. The common form adopted by democracy is a representative democracy.

2. In democratic countries, all people do not rule.

3. A majority is allowed to take decisions on behalf of all the people through their elected
representatives.

This has become necessary for the reasons given below:

1. Modern democracies involve such a large number of people that it is physically impossible for
them to sit together and take a collective decision.

2. Even if they could, the citizen does not have the time, the desire, or the skills to take part in all the

decisions. Democracy as a principle can go beyond the government and can be applied to any sphere of
life.
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3). People use the word democracy not to describe any existing government but to set up an ideal
standard that all democracies must aim to become.
However, if the ideals of democracy are considered then no country in the world is correctly

democratic. Still, having an understanding of democracy as an ideal will explain why to value
democracy.

>t enables people to judge an existing democracy and identify their weaknesses. It also helps to
distinguish between a minimal democracy and a good democracy.

The most common form of democracy in today’s world is being ruled through people’s elected
representatives. However, for a small community, there can be other ways of making democratic
decisions. All people can sit together and make decisions directly. This is how the Gram Sabha should
work in a village

Conclusion:-

Democracy, despite its flaws, is considered the best form of government because it promotes equality,
protects rights, and ensures better governance. Continuous efforts are required to overcome the

challenges and make democracy more effective and inclusive.
MULTIPLE CHOICE QUESTIONS

Q.1 In a democracy, who holds the ultimate power?
a) The President b) The Prime Minister c¢) The judiciary d) The citizens
Answer: d) The citizens
Q.2 The word ‘Democracy’ comes from the Greek word —
(a) Democracia (b) Demokratia (c) Demos (d) Kratia
Answer: b) Demokratia
Q.3 “One person, one vote’ means
(a) One person is to be voted by all
(b) One person has one vote and each vote has one value
(c) A person can vote only once in his life
(d) both (a) and (¢)
Answer: B) One person has one vote and each vote has one value
Q.4 What is the role of opposition parties in a democratic government?
a) To support the ruling party unconditionally
b) To provide constructive criticism and alternative policies
¢) To hinder the work of the government
d) To ensure the ruling party remains in power
Answer: b) To provide constructive criticism and alternative policies

Direction: In each of the questions given below, there are two statements marked as
Assertion (A) and Reason (R). Mark your answer as per the codes provided below:
a. Both A and R are true and R is the correct explanation of A.
b. Both A and R are true but R is not the correct explanation of A.
c. A is true but R is false.
d. A is false but R is true.
Q.5. Assertion(A) : In India political parties which formed the government represent the majority of seats
secured in the elections to the House of the People at the Centre and the Legislative Assemblies in the
States but not the majority of votes.
Reason (R) : The elections based on the majority vote system decided the result on the basis of relative
majority of votes secured
Answer- Both A and R are true and R is the correct explanation of A.
Q.6 . Asseration-A- Democracy enhances the dignity of the citizens.
Reason-R - People are not subjected to the ruler but they are the ruler themselves.
Answer- Both A and R are true but R is not the correct explanation of A.
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VERY SHORT ANSWER QUESTIONS (2 MARKS)
Q.7 Identify the principle that ensures all adult citizens have the right to vote, regardless of gender,
race, or economic status.
Answer: Universal Adult Franchise
Q.8 Identify the country based on those features:
1. Regular free and fair elections with universal adult franchise.
2. World's largest democracy with over a billion people.
Answer: India
Q. 9.Define democracy?.
Answer: Democracy is a form of government in which the rulers are elected by the people:
Accordingly, democracy is a form of government in which: Rulers elected by the people take all the
major decisions; Elections offer a choice and fair opportunity to the people to change the current rulers;
This choice and opportunity is available to all the people on an equal basis; and The exercise of this
choice leads to a government limited by basic rules of the constitution and citizens’ rights.
SHORT ANSWER QUESTIONS (3 MARKS)
Q.10 How does democracy enhances the dignity of the citizen?
Ans. Democracy enhances the dignity of citizens in following ways:
(a) Democracy is based on the principle of political equality stating that the poorest and least educated
have the same status as the rich and educated.
(b) People are not the subjects of a ruler, theyare the rulers themselves.
(c) Even when they make mistakes, they are responsible for their own mistakes.
Q.11 China is India's northern neighbor. China also says that its government is the people's government.
They also hold elections regularly. Why China is not considered a democracy?
Ans. (i) China is not a democracy. There is one party rule in China.
(i1)The Chinese Communist Party has held power in China since the time China got independence.
(ii1)It cannot be called a democracy because only those people who are approved by the Chinese
Communist Party are allowed to contest elections. Also, elections just like any other event in China are
under the guidance of the Chinese Communist Party.
LONG ANSWER QUESTION (5 MARKS )
Q.12 Write the essential features of democracy?
Ans. The various feature of democracy are:

1. The rulers are elected through regular elections.

2. The elected rulers have the final to make decisions. authority

3. Elections are held in a free and fair manner. Everyone has the right to contest elections. There are
institutions to maintain the sanctity of elections.

4. Every vote has equal value. The vote value of a rich person is equal to that of a poor. Everyone's
vote holds equal value irrespective of their social and financial standing.

5. Even the elected representatives have to function under certain basic rules and regulations.

6. There is the presence of rule of law and the rights of people are respected. All these findings are

also corroborated by our experience in India too.
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CHAPTER-2

CONSTITUTIONAL DESIGN

What is a constitution?

The constitution of a country is a set of written rules that are accepted by all people living together in a
country. Constitution is the supreme law that determines the relationship among people living in a
territory (called citizens) and also the relationship between the people and government.

The Need for a Constitution - A constitution does many things:

1. It generates a degree of trust and coordination that is necessary for different kind of people to live
together

2. It specifies how the government will be constituted, who will have power to take which decisions
3. It lays down limits on the powers of the government and tells us what the rights of the citizens
are and it expresses the aspirations of the people about creating a good society.

4. To form a democratic government and decide its functions.

5. To decide the jurisdiction of various organs of the government.

6. Provide a framework for governance.

7. Ensure social, economic, and political justice.

Making of the Indian Constitution

1. India’s Constitution was drawn up under very difficult circumstances. The country was born

through a partition on the basis of religious differences and was a traumatic experience for the people of
India and Pakistan. The British had left it to the rulers of the princely states to decide whether they
wanted to merge with India or with Pakistan or remain independent. The merger of these princely states
was a difficult and uncertain task.

2. When the Constitution was being written, the future of the country did not look as secure as it
does today. The Path to the Constitution One of the major advantages for the makers of the Indian
Constitution was that consensus about what a democratic India should look like had already evolved
during the freedom struggle.

3. In 1928, Motilal Nehru and eight other Congress leaders drafted a constitution for India and In
1931, the resolution at the Karachi session of the Indian National Congress dwelt on how independent
India’s constitution should look like.

Both these documents included features such as:

1. Universal Adult Franchise,
2. Right to Freedom and Equality and
3. to protecting the rights of minorities in the constitution of independent India.

These basic values were accepted by all leaders much before the Constituent Assembly met to
deliberate on the Constitution. That is why the Indian constitution adopted many institutional details and
procedures from colonial laws like the Government of India Act, 1935. Many of our leaders were
inspired by the ideals of the French Revolution, the practice of parliamentary democracy in Britain and
the Bill of Rights in the US.

The Constituent Assembly:

1. The drafting of the constitution was done by an assembly of elected representatives called the
Constituent Assembly.

2. Elections to the Constituent Assembly were held in July 1946 and its first meeting was held in
December 1946.

3. Soon after, the country was divided into India and Pakistan and the Constituent Assembly was
also divided into the Constituent Assembly of India and that of Pakistan.

4. The Constituent Assembly that wrote the Indian constitution had 299 members.

5. The Assembly adopted the Constitution on 26 November 1949 but it came into effect on 26
January 1950.

6. To mark this day we celebrate January 26 as Republic Day every year.
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LEGITIMACY OF INDIAN CONSTITUTION:-

1. We accepted the Constitution made by the Constituent Assembly more than 50 years ago.

2. The Constitution does not reflect the views of its members alone. It expresses a broad consensus
of its time.

3. The second reason for accepting the Constitution is that the Constituent Assembly represented the
people of India.

4. Finally, the manner in which the Constituent Assembly worked gives sanctity to the Constitution.
The Constituent Assembly worked in a systematic, open and consensual manner.

5. First, some basic principles were decided and agreed upon. Then a Drafting Committee chaired by

Dr B.R. Ambedkar prepared a draft constitution for discussion. Several rounds of thorough discussion
took place on the Draft Constitution, clause by clause. More than two thousand amendments were
considered. Every document was presented and every word spoken in the Constituent Assembly has been
recorded and preserved. These are called ‘Constituent Assembly Debates.’

Guiding Values of the Indian Constitution
1. First, understand the overall philosophy of what our Constitution is all about. Read the views of
some of our major leaders on our Constitution and read what the Constitution says about its own
philosophy.

2. This is what the preamble to the Constitution does. The Dream and the Promise There were many
members who followed the vision of Mahatma Gandhi.
3. This dream of an India that has eliminated inequality was shared by Dr Ambedkar, who played a

key role in the making of the Constitution, but his vision of removing inequalities from India was
different from Gandbhiji.

4, Philosophy of the Constitution Values that inspired and guided the freedom struggle and were in
turn nurtured by it, formed the foundation for India’s democracy. Given below are the values embedded
in the Preamble of the Indian Constitution

Philosophy of Indian Constitution :-

1. We the People of India :- The constitution has been drawn up and enacted by the people through
their representatives, and not handed down to them by a king or any outside power.

2. Sovereign :- People have supreme right to make decisions on internal as well as external matters.
No external power can dictate the government of India.

3. Socialist :- Wealth is generated socially should be shared equally by society. Government should
regulate the ownership of land and industry to reduce socio-economic inequlities.

4. Secular :- Citizen have complete freedom to follow any religion. But there is no official religion.
Government treats all religious beliefs and practices with equal respect.

5. Democratic :- A form of government where people enjoy equal political rights, elect their rulers
and hold them accountable. The government is run according to some basic rules.

6. Republic :- The head of the state is an elected person and not a hereditary position.

7. Justice :- Citizens cannot be discriminated on the grounds of caste, religion and gender. Social

inequalities have to be reduced. Government should work for the welfare of all, especially of the
disadvantaged groups.

8. Liberty :- There are no unreasonable restrictions on the citizens in what they think, how they
wish to express their thoughts and the way they wish to follow up their thoughts in action.

9. Equality :- All are equal before the law. The traditional social inequalities have to be ended. We
should ensure equal opportunity for all.

10. Fraternity :- All of us should behave as if we are members of the same family. No one should

treat a fellow citizen as inferior.
MULTIPLE CHOICE QUESTIONS

Q.1. Who was the Chairman of the Drafting Committee of Indian Constitution?
A. Dr. Rajendra Prasad  B.Dr. B.R.Ambedkar =~ C. Mahatma Gandhi D. Motilal Nehru

Answer- B. Dr. B.R.Ambedkar
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Q.2 What is called the soul of the Indian Constitution?
A. Legislature B. Judiciary C. Executive D. Preamble

Answer- D. Preamble

Q.3 what is meant by the 'separation of powers' in a constitutional context?

A. Dividing the powers among different states

B. Dividing the powers among different political parties

C. Dividing the powers among the executive, legislative, and judicial branches

D. Dividing the powers between the government and private sector
Answer: C. Dividing the powers among the executive, legislative, and judicial branches
Q4 . Match these guiding values with their meanings.

(A) Sovereign (1) government will not favour any particular religion
(B) Republic (i1) People will have supreme right to make decisions without outside
Interference
(C) Fraternity (ii1) Head of the state is an elected person
(D) Secular (iv) There should be a feeling of brotherhood among all the people

(A) . A-(ii1), B-(i), C-(i1), D-(IV)
(B) A-(i1), B-(iii), C-(iv), D-(i)
(C) A-(1), B-(IV), C-(iii), D-(i1)
(D) A-(1V), B-(iii), C-(i), D-(ii)
Answer- (B) A-(ii), B-(ii1), C-(iv), D-(1)
Q.5 Assertion: A constitution is the supreme law of the country.
Reason: constitution determines the relationship among people living in a territory
and the relationship between people and government.
A. Both A and R are true and R is the correct explanation of A.
B. Both A and R are true and R is not the correct explanation of A.
C. A is true but R is false.
D. A is false but R is true.
Answer-. Both A and R are true and R is the correct explanation of A.
Q.6 Match the following leaders with their roles in the making of the Constitution:

(a) Motilal Nehru (1) President of the Constituent Assembly
(b) B.R. Ambedkar (i1) Member of the Constituent Assembly
(c) Rajendra Prasad (i11) Chairman of the Drafting Committee
(d) Sarojini Naidu (iv) Prepared a Constitution for India in 1928
Answer:
(a) Motilal Nehru (iv) Prepared a Constitution for India in 1928
(b) B.R. Ambedkar (ii1) Chairman of the Drafting Committee
(c) Rajendra Prasad (1) President of the Constituent Assembly
(d) Sarojini Naidu (i1) Member of the Constituent Assembly
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VERY SHORT ANSWER QUESTIONS (2 MARKS)
Q.7 What is meant by Secular?

Answer- Citizen have complete freedom to follow any religion. But there is no official religion.
Government treats all religious beliefs and practices with equal respect.

Q.8What is meant by Republic?

Answer- Republic :- The head of the state is an elected person and not a hereditary position.
Q.9. What is meant byapartheid ?

Answer- Apartheid is a system of racial discrimination unique to South Africa imposed by white
Europeans.

SHORT ANSWER QUESTIONS (3 MARKS)

Q.10.The apartheid system was oppressive for the "blacks". What were the significant discriminations
that the "blacks" faced in the apartheid system?
Answer- (i) It is true that the apartheid system was really oppressive for the "blacks". It was a draconian
system of racial discrimination and segregation based on skin colour.
(i1) Living in white areas was not allowed for "blacks. They needed a permit to work in white areas.

Public utilities including public toilets, swimming pools, beaches, theatres, cinema halls, libraries,
schools and colleges, hospitals, hotels, trains, buses, and taxis were all separate for blacks and whites.
(ii1) The churches where the whites worshipped were forbidden for blacks.
(iv)They perpetuate and protect the system, the blacks were forbidden from forming associations and
protesting against this discrimination.
Q.110n what terms did the blacks agreed upon while making a Constitution for South Africa?
Answer:

After two years of discussion and debate, they came out with one of the finest constitutions the world
has ever had. This constitution gave to its citizens the most extensive rights available in any country.

Together,

1. they decided that in the search for a solution to the problems, nobody should be excluded,
2. no one should be treated as a demon.

3. They agreed that everybody should become part of the solution,

4 whatever they might have done or represented in the past.

LONG ANSWER QUESTION(S MARKS)

Q.12Explain with five facts of the transition of apartheid to democracy and multi-racial govern- ment
that took place in South Africa.
Ans. Transition that took place in South Africa:
(1) After the emergence of the new democratic South Africa, the black leaders appealed to the fellow
blacks to forgive the whites for the atrocities they had committed while in power.
(i) They built a new South Africa based on equality of all races and men and women, on democratic
values, social justice and human rights.
(ii1))  The party that ruled through oppression and brutal killings and the party that led the freedom
struggle, sat together to draw up a common constitution.

(iv) After two years of discussion and debate, they came out with one of the finest constitutions, the
world has ever had.
(v) This constitution gave to its citizens the most extensive rights available in any country. Together,

they decided that in the search for a solution to the problems, nobody should be excluded, no one should
be treated as a demon.
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Q 13. .Why was the making of the Indian Constitution not an easy affair?
Answer:-Like South Africa, India’s Constitution was also drawn up under very difficult
circumstances.
1. The making of the constitution for a huge and diverse country like India was not an easy affair. At
that time the people of India were emerging from the status of subjects to that of citizens. The country
was born through a partition on the basis of religious differences.

2. This was a traumatic experience for the people of India and Pakistan. Atleast ten lakh people were
killed on both sides of the border in partition related violence.

3. The British had left it to the rulers of the princely states to decide whether they wanted to merge
with India or with Pakistan or remain independent.

4. The merger of these princely states was a difficult and uncertain task. When the Constitution was
being written, the future of the country did not look as secure as it does today.

5. The makers of the Constitution had anxieties about the present and the future of the country
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CHAPTER-3

ELECTORAL POLITICS
Need of Elections-
1. Democracy is the rule of the people.
2. It is not possible for all the millions of people of a country to sit down together and take decisions
about governing the country.
3. So, all the citizens together choose a few people who will represent them and run the government
on their behalf. To choose these few people to run the government we need elections.
What makes an election democratic?

1. Every person in the country has the right to choose a representative. It means Everyone should
have one vote and every vote should have equal value.

2. Parties and candidates should be free to contest elections and should offer some real choice to the
voters.

3. The choice should be offered at regular intervals. Elections must be held regularly after every few
years.

4. The candidate preferred by the people should get elected.

5. Elections should be conducted in a free and fair manner where people can choose as they really
wish.

Is It Good to Have Political Competition? -YES

1. It creates a sense of disunity and factionalism in every locality.

2. Different political parties and candidates often use dirty tricks like booth capturing to win
elections.

3. The pressure to win electoral fights does not allow sensible long-term policies to be formulated.
4, Some good people who may wish to serve the country do not enter this arena. They do not like the

idea of being dragged into unhealthy competition.
Demerits of political competition:
(a) It creates a sense of disunity, factionalism
(b) Political parties and its leaders level allegations against one another
(c) Parties and candidates often use dirty tricks to win elections.
Our System of Elections-
General Election
>Elections are held in all constituencies at the same time, either on the same day or within a few days.
>By-election -Sometimes election is held only for one constituency or two to fill the vacancy caused by
death or resignation of a member.
Electoral Constituencies

1. The country is divided into different areas based on population for the purpose of elections which
are called electoral constituencies.
2. For Lok Sabha elections, the country is divided into 543 constituencies.

Similarly, each state is divided into a specific number of Assembly constituencies.

Reserved Constituencies
1. Some constituencies are reserved for people who belong to the Scheduled Castes [SC] and
Scheduled Tribes [ST].
2. In a SC reserved constituency only someone who belongs to the Scheduled Castes can stand for
election.

Voter’s List
1. The list of people who are eligible for voting is prepared by the Election Commission of India
before election.
2. In India, all the citizens aged 18 years and above has the right to vote, regardless of his or her
caste, creed, colour, religion or gender.
Process of Election in India:

Important steps involved in the elections are in as follows: (In sequence)
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1. Formation of constituencies.2. Preparation of Voters' list. 3. Declaration of date of Polling
4. Filling of Nominations. 5. Scrutiny of Nominations 6. Rejection/Withdrawal of Nominations.
7. Election Campaign 8. Polling (Election Day)
9. Counting of Votes and Declaration ofResults
Model Code of Conduct:
1. All the candidates and their parties follow the Model Code of Conduct for election campaigns.
2. According to this, Once elections are announced no party or candidate can: Use any place of
worship for election propaganda 2. Use government vehicles, aircrafts and officials forelections
3. Ministers shall not lay foundation stones of any projects, take any big policy decisions or make any
Promises of providing public facilities
Nomination of Candidates
1. Anyone who can be a voter can also become a candidate in elections.
2. However, minimum age of in order to be a candidate the minimum age is 25 years.
Election Campaign
The campaigns take place for a two-week period between the announcement of the final list of candidates
and the date of polling.
Unfair practices in elections:-
We often hear/read through media about the unfair practices in the elections. These include:
1. Inclusion of false names and exclusion of genuine names in the voters' list.
2. Misuse of government facilities and officials by the ruling party.
3.Excessive use of money by rich candidates and big parties, and
4. Intimidation of voters and rigging on the polling day.
Polling and Counting of Votes
The final stage of an election is the day when the voters cast or ‘poll’ their vote.
What Makes Elections in India Democratic?
A. Independent Election Commission
1. In India, elections are conducted by an independent and very powerful Election Commission (EC)
which enjoys the same kind of independence that the judiciary enjoys.
2. The Chief Election Commissioner (CEC) is appointed by the President of India.

3. But once appointed, CEC is not answerable to the President or the government.

Power and Functions of the Election Commission of India:

1. EC takes decisions on every aspect of conduct and control of elections from the announcement of
elections to the declaration of results.

2. It implements the Code of Conduct and punishes any candidate or party that violates it.

3. During the election period, the Election Commission can order the government to follow some

guidelines, to prevent use and misuse of governmental power to enhance its chances to win elections, or
to transfer some government officials. When on election duty, government officer works under Election
commission and not the government.

B.Popular Participation

1. The participation and enthusiasm of people in an election is another criterion to check the quality
of elections.

2. If the election process is not free or fair, people will not continue to participate in the exercise.

3. People’s participation in elections is usually measured by voter turnout figures.

4. Turnout indicates the percentage of eligible voters who actually cast their vote.

In India, there is a greater voter turnout of poor illiterate people as compared to Western democracies.
C. Acceptance of election outcome

1. The ruling parties routinely lose elections in India both at the national and state level.

2. In the US, an incumbent or ‘sitting’ elected representative rarely loses an election. In India about
half of the sitting MPs or MLAs lose elections.

3. Candidates who are known to have spent a lot of money on ‘buying votes’ and those with known

criminal connections often lose elections.
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4. Barring very few disputed elections, the electoral outcomes are usually accepted as ‘people’s
verdict’ by the defeated party.
Challenges to Free and fair elections in India

1. Candidates and parties with a lot of money may not be sure of their victory but they do enjoy an
unfair advantage over smaller parties and independents.

2. In some parts of the country, candidates with criminal connection have been able to push other out
of the electoral race and to secure a ‘ticket’ from major parties.

3. Some families tend to dominate political parties; tickets are distributed to relatives from these
families.

4. Elections offer little choice to ordinary citizens, for both the major parties are quite similar to each
other both in policies and practice.

5. Smaller parties and independent candidates suffer a huge disadvantage compared to bigger parties

in terms of money power and organisational support.

Are the elections too expensive for our country?
1. A large amount of money is spent on conducting elections in India. For instance, the government
spent about 3500 crores in conducting Lok Sabha elections in 2014.

2. Some people say that elections are a burden on our people and that our poor country cannot afford
to hold elections once every five years.
MULTIPLE CHOICE QUESTIONS

Q.1 What is the role of political parties in a democracy?

A. To avoid elections

B. To educate citizens and represent their interests
C. To restrict citizen participation

D. To control the judiciary

Answer: B. To educate citizens and represent their interests

Q.2 What is the purpose of the Model Code of Conduct during elections?
A To regulate the voting process
B. To guide the Election Commission
C. To ensure ethical campaigning by political parties
D. To count the votes
Answer: C. To ensure cthical campaigning by political parties
Q.3 Why are regular elections important in a democracy?
A. To maintain the status quo
B. To allow frequent changes in government policies
C. To ensure continuity in governance and public participation
D. To increase political violence
Answer: C. To ensure continuity in governance and public participation
Q.4 Assertion (A): The First-Past-The-Post system is used for Lok Sabha elections in India.
Reason (R): In this system, the candidate who secures the highest number of votes in a constituency wins
the election.
A. Both A and R are true, and R is the correct explanation of A.
B. Both A and R are true, but R is not the correct explanation of A.
C. A is true, but R is false.
D. A is false, but R is true.
Answer: A. Both A and R are true, and R is the correct explanation of A.
VERY SHORT ANSWER QUESTIONS (2 MARKS)
Q.1 Define turn out and By-election ?
Ans:
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By-FElection- Sometimes elections are held only for one constituency to fill the vacancy caused by
death or resignation of a member. This is called a By-Election.
Q.2 What is the full form of NOTA, EVM, M.L.A., EPIC ?
Ans- NOTA- None of the Above
EVM - Electronic Voting Machine
M.L.A.- Member of Legislative Assembly
EPIC- Electoral photo identity card.

Q.3 What is the condition for contesting an election in India?
Ans: Anyone who can be a voter can also become a candidate in elections. The candidate should be a

minimum of 25 years age. Every person who wishes to contest an election has to fill out a 'nomination
form and give some money as 'security deposit'.

SHORT ANSWER QUESTIONS (3 MARKS)
Q.4 What is the difference between a voter and a candidate?

Ans: Voter is the person who takes part in the election of any part of the Parliament, and votes for a
particular contestant or also known as Candidate, it is his choice he can also deny from his Right to vote.
Candidate is the person who contests an election of any part of the constitution, if he or she is interested

to takepart and serve the people of that particular place or country. He or She, is the one who is voted by
the voters.

Q.5 Mention Any three functions of the Election Commission.
Ans:

1.EC takes decisions on every aspect of conduct and control of elections from the announcement of
electionsto the declaration of results.
2. It implements the Code of Conduct and punishes any candidate or party that violates it.

3. During the election period, the EC can order the government to follow some guidelines, to prevent the

use and misuse of governmental power to enhance its chances to win elections, or to transfer some
governmentofficials.

Q.6 Elections are considered essential for any representative democracy.l Why?
Ans: In a democracy the citizens choose the people/politicians who will represent them in governing the

country. According to each country's constitution elections are held at regular intervals to give the
citizens a chance to vote for who will represent them. In most democracies the politicians who receive a
majority of votes are elected into government.

LONG ANSWER QUESTION (5 MARKS)
Q.7 What are the challenges to free and fair elections in India?
Ans: Challenges to free and fair elections in India are as follows:

(1) Candidates and parties with a lot of money may not be sure of their victory but they do enjoy a
big and unfair advantage over smaller parties and independents.
(i) In some parts of the country, candidates with criminal connection have been able to secure a

'ticket' from major parties.

(iii))  Some families tend to dominate the political parties tickets are distributed to relatives from these
families.

(iv)  Very often, elections offer little choice to ordinary citizens as both the major parties are similar to
each other in their policies and practices.

W) Smaller parties and independent candidates suffer a huge disadvantage as compared to the bigger
parties.

Q.8 Explain the role of the Election Commission in conducting the free and fair elections.
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Ans. The Election Commission is independent and very powerful . It enjoys the same kind of
independence that the judiciary enjoys. The Chief Election Commissioner (CEC) is appointed by the
President of India. He heads the Election Commission. After his election the C E C is not answerable to
the President or the government. It is impossible for the government to remove the CEC, even if it is
dissatisfied with him. The role of the Election Commission in conducting the free and fair elections is as
follows.-

(1) Election Commission takes decisions on every aspect of conduct and control of elections from the
announcement of elections to the declaration of results.
(i1) It implements the Code of Conduct and punishes any candidate or party that violates it.
(ii1)) It allots election symbols to parties and independent candidates.
(iv)  During the election period, the Election Commission can order the government to follow some
guidelines, to prevent use and misuse of governmental power to enhance its chances to win elections, or
to transfer some government officials.
(v) When on election duty, government oftficers work under the control of the Election Commission
and not the government.
CASE STUDY BASED QUESTIONS
Q.9
Voter turnout is a critical indicator of the health of a democracy. High voter turnout often reflects a
vibrant and engaged citizenry. However, low voter turnout can indicate apathy, disillusionment with the
political process, or barriers to voting. The Election Commission works to increase voter turnout
through awareness campaigns and by making voting more accessible."
Questions:
1. Why is voter turnout considered a critical indicator of the health of a democracy? Answer:
High voter turnout often reflects a vibrant and engaged citizenry, indicating that people are actively
participating in the democratic process.
2. What can low voter turnout indicate?
Answer: Low voter turnout can indicate apathy, disillusionment with the political process, or barriers to
voting.
3. How does the Election Commission work to increase voter turnout?
Answer: The Election Commission works to increase voter turnout through awareness campaigns
and by making voting more accessible.
Q.10 "The Model Code of Conduct (MCC) is a set of guidelines issued by the Election Commission to
regulate political parties and candidates prior to elections. The MCC aims to ensure that elections are
conducted in a fair and transparent manner, without any malpractices or unethical behavior. It includes
rules about the conduct of political parties, campaign activities, and the use of government resources."
Questions:
1. What is the Model Code of Conduct (MCC)?
Answer: The Model Code of Conduct (MCC) is a set of guidelines issued by the Election Commission
to regulate political parties and candidates prior to elections.
2. What is the aim of the MCC?
Answer: The MCC aims to ensure that elections are conducted in a fair and transparent manner,
without any malpractices or unethical behavior.
3. What are some aspects covered by the MCC?
Answer: The MCC includes rules about the conduct of political parties, campaign activities, and
the use of government resources.
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CHAPTER-4
Working of Institutions
OVERVIEW:
Democracy is not just about people electing their rulers.
In a democracy the rulers have to follow some rules and procedures.
They have to work with and within institutions.
In this process we come across three institutions that play a key role in major decisions —

1. legislature,
2. executive and
3. judiciary.

President is the head of the state and is the highest formal authority in the country.

Prime Minister is the head of the government and actually exercises all governmental powers. He takes
most of the decisions in the Cabinet meetings.

Parliament consists of the President and two Houses, Lok Sabha and Rajya Sabha.

How is a major policy decision taken?

> A Government order: An important Office Memorandum No. 36012/31/90-Est (SCT) was issued by
theGovernment of India on August 13, 1990.

> Such a big decision could not have been taken by the person who signed the document. The instructions
were given by the Minister of Personnel, Public Grievances and Pensions, of which the Department was a

part.

The Mandal Commission:

1. The Government of India appointed the Second Backward Classes Commission in 1979. It was
headed by Sh. B.P. Mandal.

2. It was asked to determine the criteria to identify the socially and educationally backward classes
in India and recommend steps to be taken for their advancement.

3. One of the main recommendations of the commission was that 27 per cent of government jobs be

reserved for the socially and educationally backward classes.
The Decision Makers

1. President is the head of the state and is the highest formal authority in the country.

2. Prime Minister is the head of the government and actually exercises all governmental powers. He
takes most of the decisions in the Cabinet meetings.

3. The Prime Minister must have the support of a majority of Lok Sabha members.

4. Parliament consists of the President and two Houses, Lok Sabha and Rajya Sabha.

The Parliament: Legislature

In all democracies, an assembly of elected representatives exercises supreme political authority on behalf
of the people. In India such a national assembly of elected representatives is called Parliament.

At the state level this is called Legislature or Legislative Assembly. Parliament consists of the President
and two Houses, Lok Sabha and Rajya Sabha.

Need for Political Institutions

1. In order to settle any disputes, modern democracies have arrangements called institutions whose
powers and functions are decided by the Constitution.

2. The Prime Minister and the Cabinet are institutions that take all important policy decisions.

3. The Civil Servants, working together, are responsible for taking steps to implement the ministers’
decisions.

4. Supreme Court is an institution where disputes between citizens and the government are finally
settled.

Why do we need a Parliament?

1. In all democracies, an assembly of elected representatives exercises supreme political authority on
behalf of the people.
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2. In India such a national assembly of elected representatives is called Parliament. At the state level
this is called Legislature or Legislative Assembly. Parliament consists of the President and two Houses,
Lok Sabha and Rajya Sabha.

The Functions of a Parliament-

Parliament is the final authority for making laws in any country.

Parliament controls those who run the government.
The government can take decisions so long as they enjoy support of the Parliament.
Parliament controls all the money that government has.

TR MRS

. Parliament is the highest forum of discussion and debate on public issues and national policies in
any country.

Two Houses of Parliament
Lok Sabha (House of the People): -
Lok Sabha (House of the People) or Lower Chamber It is Usually directly elected by the people and
exercises the real power on behalf of the people.
The total number of elected members of Lok Sabha is 543.
Rajya Sabha (Council of States): -
Rajya Sabha (Council of States) or Upper Chamber It is indirectly elected and performs special

functions such as interest of various states, regions or federal units.

The total number of members of Rajya Sabha is 250 , 238 members are elected by the members of
legislative assemblies +12 members are nominated by the President

Executive:
At different level of the government, there are some functionaries who take day-today decisions. All
those functionaries are collectively known as the executive.

They called executive because they are in charge of the ‘execution’ of the policies of the
government. Thus, when we talk about ‘the government’ we usually mean the executive. Further,
executive is classified in two categories.

(1) Political Executive:

The Political Executive is elected by the people for specific periods (e.g.-5 years). Ministers fall in
this category.
(2) Permanent Executive: -

1. There are some people to assist the political executive in carrying out day-to-day administration.
2. They are appointed for a long period of time.

3. This is called Permanent Executive or Civil Services.

Prime Minister and Council of Ministers

1. The Prime Minister, appointed by the President, is the most important political institution in the
country.

2. On the advice of the Prime Minister other ministers are appointed by the President.

3. The ministers should be member of Parliament. A person who is not a member of the Parliament

can become the Minister, but he has to get elected to one of the houses within six months

The Council of Ministers: -
The Council of Minister is the official name for the body that includes all the ministers.

It includes following three types of ministers:
1). Cabinet Ministers: About 20 top-level ministers who are in charge of the major ministries.
2). Ministers of State with independent charge: They are usually in-charge of small Ministries.
3). Ministers of State: They are attached to and required to assist Cabinet Ministers.
Powers of the Prime Minister
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1. He is the chairperson of Cabinet meetings and coordinates work of various departments.

2. In case of conflicts within departments, his decisions are final.

The President

1. The President is the head of the state and exercises nominal ceremonial powers.

2. Government activities, laws, major policy decisions and appointments of the government,
international treaties and agreements are issued in the name of the President.

3. Some appointments include Chief Justice of India, Judges of the Supreme Court and High Courts

in consultation with Chief Justice, Governor of States, Election Commissioners and ambassadors to other
countries.
4. The President is the supreme commander of the defence forces of India.
Election of the President:
The President is not directly elected by the people.
The elected Members of Parliament (MPs) and the elected Members of the Legislative Assembly
(MLAS) elect the president.
Powers and Functions of the President of India:
1. All major appointments are made in the name of the President.
All international treaties and agreements are made in the name of the President.
The President is the supreme commander of the defence forces of India.
All laws and major policy decisions of the government are issued in the name of the President.
A bill passed by the Parliament becomes a law only after the President gives assent to it.
The President appoints the Prime Minister and other ministers on advice of the Prime Minister.
Powers and functions of the Prime Minister
1 Head of the government.
2 Ministers are appointed on advice of the Prime Minister.
3. Distribution and redistribution of work to the ministers.
4
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He chairs Cabinet meetings. He can dismiss the ministers.
He coordinates the work of different Department. His decisions are final in case disagreements
arise between Departments.

6. Leader of the house.
7. Represents the country on foreign tours.
8. Prime Ministerial form of government: If Cabinet is the most powerful institution; within the

Cabinet it is the Prime Minister who is the most powerful. The Prime Minister commands so much power
in parliamentary democracy that parliamentary democracy is sometimes seen as Prime Ministerial form
of government.

Indian Judiciary:

The Indian Judiciary consists of _

1. A Supreme Court for the entire nation,

2. High Courts in the states,

3. District Courts and the courts at the local level.

Integrated Judiciary:

1. India has an integrated judiciary. It means the Supreme Court controls the judicial administration

in the country.
2. Its decisions are binding on all other courts of the country.

MULTIPLE CHOICE QUESTIONS
Q.1 A set of norms and guidelines to be followed by political parties and candidates during elections is
called:
(a) Constituency (b) Rigging (c) Code of conduct (d) Turnout
Answer: (¢) Code of conduct
Q.2 Which of the following statement is incorrect?
(a) All citizens above the age of 21 can vote in an election
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(b) Every citizen has the right to vote regardless of caste religion or gender
(c) Some criminals and persons with unsound mind can be denied the right to vote in rare situations
(d) It is the responsibility of the government to get the names of all eligible voters put in the voters
list.
Answer: (a) All citizens above the age of 21 can vote in an election
Q 3 Assertion (A): The President of India is elected by an electoral college.
Reason (R): The President is the head of the State and must represent the entire country.
A. Both A and R are true, and R is the correct explanation of A.
B. Both A and R are true, but R is not the correct explanation of A.
C. A is true, but R is false.
D. A is false, but R is true.
Answer: B. Both A and R are true, but R is not the correct explanation of A.

Q.4 Assertion (A):The Prime Minister is the leader of the majority party in the Lok Sabha.

Reason (R): The Prime Minister is appointed by the President of India.
A. Both A and R are true, and R is the correct explanation of A.
B. Both A and R are true, but R is not the correct explanation of A.
C. A is true, but R is false.
D. A is false, but R is true.
Answer: B. Both A and R are true, but R is not the correct explanation of A.

Q 5 Assertion (A):The Lok Sabha is more powerful than the Rajya Sabha.

Reason (R): Money bills can only be introduced in the Lok Sabha.
A. Both A and R are true, and R is the correct explanation of A.
B. Both A and R are true, but R is not the correct explanation of A.
C. A is true, but R is false.
D. A is false, but R is true.
Answer: A. Both A and R are true, and R is the correct explanation of A.

Q.6 Money bills can only be introduced in:
A. The Rajya Sabha
B. The Lok Sabha
C. The Legislative Assembly
D. The President's Office
Answer: B. The Lok Sabha

Q.7 The Speaker of the Lok Sabha is elected by:
A. The President
B. The Prime Minister
C. The members of the Lok Sabha
D. The Chief Justice of India
Answer C. The members of the Lok Sabha

VERY SHORT ANSWER QUESTIONS (2 MARKS)

Q.8 Which house of the Parliament is more powerful in India? Give reasons.
Ans: Lok Sabha has more power than Rajya Sabha in the Indian Parliamentary system. Following are the

reasons behind it: Lok Sabha is 'directly elected by the people' of the country by using their power to
vote. Lok Sabha has more power over matter dealing with money matters.
Q.9 What is the procedure for the removal of the judges?
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Ans: The procedure for the removed of a judge is called an impeachment. An impeachment motion is
passed separately by two-thirds members of the two Houses of the Parliament. Thus, the judges who are
appointed by the President cannot be removed by the President alone.

SHORT ANSWER QUESTIONS (3 MARKS)

Q.10 Why is there a need for political institutions?

Ans: A democracy Works well when the political institutions, like the: Prime Minister and the
Cabinet, the Civil Servants, the Supreme Court, etc., perform functions assigned to them. The need for
these political institutions are

(1) To take decisions:- Countries need political institutions to take decisions regarding the welfare of
the

people. Institutions formulate various policies and welfare schemes.

(i1) To implement the decisions :-The decisions which have been taken are to be implemented.

(ii1) To solve the disputes :- Institutions are needed to solve the disputes between various institutions.

Q.11 How are some of the delays and complications introduced by democratic institutions very useful?
Ans: Delays and complications introduced by institutions are very useful. They provide an opportunity

for a wider set of people to be consulted in any decision. Institutions make it difficult to have a good
decision taken very quickly. But, they also make it equally difficult to rush through a bad decision. That
is why, democratic governments insist on institutions.

Q.12 What does the Independence of Judiciary‘ mean?
Ans. (i) The judiciary is not under the control of the Legislature or the Executive.
(i1) The judges do not act on the directions of the government or according to the wishes of the
party in power.
(ii1) That is why, all modem democracies have units that are independent of the Legislature and
the

Executive.

Q.13 Why do the political executives have more power than the permanent executives?
Ans: Political executive is more powerful than the permanent executive because:
a. Ministers are directly elected by the people.
b. They are answerable and accountable to the people.
c. Democracy is based on the will of the people, therefore it is the elected ministers who represents that
will and takes the final decision

LONG ANSWER QUESTION (5 MARKS)

Q.14 What are the powers and functions of the President of India?

Ans. President is the nominal head of the country and represents Indian republic. He has to perform
following functions-
(1) He appoints Prime Minister although he has to appoint the leader of majority party as the PM.

(i1) All government activities take place in the name of the President.

(ii1) All laws and major policy decisions of the government are issued in her name.

(iv) All major appointments are made in the name of the President. These include the appointment of
Chief Justice of India, the Judges of the Supreme Court and the High Courts, the Election
Commissioners and ambassadors to other countries.

(v) All international treaties and agreements are made in the name of the President.

(vi) A bill passed by the parliament becomes law only after the President gives assent to it.

Q.15 Distinguish between the Lok Sabha and the Rajya Sabha.
Ans. We have the following points as the differences between the Lok Sabha and the Rajya Sabha:
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1) Lok Sabha, as per its name, it is the assembly in which the people elect their representatives. In Rajya
Sabha, the representatives are chosen by the elected members of the State Assemblies.

2) Rajya Sabha is considered as the permanent body whereas the Lok Sabha dissolved after every five
years.

3) The maximum members in the Lok Sabha at present are 552 while there are only 250 members in the
Rajya Sabha. Now a days total numbers of lok sabha members are 545.
4) For being a member in Lok Sabha, any Indian citizen is eligible having a minimum age of 25 years.
On the other hand in the case of Rajya Sabha minimum age is 30 years.

5) The introduction of the Money Bill is done only in the Lok Sabha. But after its approval from Lok
Sabha, it is sent to Rajya Sabha, for consideration.
6) The speaker is the representative of the Lok Sabha. And the Vice-President of India is the representativ
of Rajya Sabha.
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CHAPTER-5
DEMOCRATIC RIGHTS

Why Do We Need Rights in Democracy ?

In a democracy, every citizen has the right to vote and the right to be elected to government. Rights
perform a very special role in a democracy. Need Rights in a Democracy

(1) Rights sustain a democracy.

(i1) They allow citizens to express their views freely, form parties and take part in politicalactivities.
(ii1))  Rights are guarantees when things go wrong. They do not allow the majority to dominate the
minority.

(iv)  Some rights are placed higher than the government, so that the government does not violate them.
v) Rights in the Indian Constitution

(vi)  Rights are guarantees which can be used when things go wrong.

(vii)  Rights in the Indian Constitution

You already know our Constitution provides for 6 Fundamental Rights.

Let’s discuss them one by one.

1.) Right to Equality-

The Constitution says that the government shall not deny to any person in India equality before the law or
the equal protection of the laws. It means that the laws apply in the same manner to all, regardless of a
person’s status. This is called the rule of law, which is the foundation of any democracy. It means that no
person is above the law. There cannot be any distinction between a political leader, a government official,
and an ordinary citizen.

1. The government shall not discriminate against any citizen on grounds of religion, race, caste, sex
or place of birth.

2. Every citizen shall have access to public places like shops, restaurants, hotels, and cinema halls.
3. There shall be no restriction with regard to the use of wells, tanks, bathing ghats, roads,

playgrounds and places of public resorts maintained by the government or dedicated to the use of the
general public.
4. All citizens have equality of opportunity in matters relating to employment or appointment to any
position in the government.
2) Right to Freedom-

Under the Indian Constitution, all citizens have the right to: Freedom of speech and expression
1 Assemble in a peaceful manner
2 Form associations and unions
3 Move freely throughout the country
4. Reside in any part of the country
5 Practice any profession or to carry on any occupation, trade or business.
3) Right Against Exploitation

Every citizen has a right not to be exploited. The Constitution has clear provisions to prevent
exploitation of the weaker sections of the society. The Constitution mentions 3 specific evils as
mentioned below and declares them illegal.

1. The Constitution prohibits ‘traffic in human beings’. Traffic means selling and buying of human
beings, usually women, for immoral purposes.
2. Our Constitution prohibits forced labour or begar in any form. Begar is a practice where the

worker is forced to render service to the ‘master’ free of charge or at a nominal remuneration. When this
practice takes place on a life-long basis, it is called the practice of bonded labour.

3. The Constitution prohibits child labour. Under this, no one can employ a child below the age of
14 to work in any factory or mine or in any other hazardous work, such as railways and ports.

4) Right to Freedom of Religion
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Every person has a right to profess, practice and propagate the religion he or she believes in. India is a
secular state which means India does not establish any one religion as the official religion. Freedom to
practice religion does not mean that a person can do whatever he wants in the name of religion.

For example, one cannot sacrifice animals or human beings as offerings to supernatural forces or gods.
5) Cultural and Educational Rights
Indian Constitution specifies the cultural and educational rights of the minorities:

1. Any section of citizens with a distinct language or culture have a right to conserve it.

2. Admission to any educational institution maintained by the government or receiving government
aid cannot be denied to any citizen on the grounds of religion or language.

3. All minorities have the right to establish and administer educational institutions of their choice.

6) Right to Constitutional Remedies

Right to constitutional remedies empowers the citizens to move to a court of law in case of any

denial of the fundamental rights. 1.Habeas Corpus 2. Mandamus3.Prohibition 4. Certiorari
5.Qua Warranto

How can we secure these Rights?

Right to Constitutional Remedies makes the other 5 Fundamental Rights effective. When any of our

rights are violated, we can seek remedy through courts. That is why Dr. Ambedkar called the Right to

Constitutional Remedies, ‘the heart and soul’ of our Constitution.

1. Fundamental Rights are guaranteed against the actions of the Legislatures, the Executive, and any
other authorities instituted by the government.

2. There can be no law or action that violates the Fundamental Rights.

3. If any act of the Legislature or the Executive takes away or limits any of the Fundamental Rights

it will be invalid..
MULTIPLE CHOICE QUESTIONS

Q.1 What was America's justification for holding people at Guantanamo Bay?
(a) They'd been discovered spying.
(b) They planned to assassinate the President of the United States.
(c) They intended to establish a Communist regime in the United States.
(d) America viewed them as foes and linked them to the September 11th attacks in New York.

Ans. (b) They planned to assassinate the President of the United States.
Q.2 Consider the statements below:

(1) There is no provision in the Indian Constitution for reservation in matters of promotion in state-run
services in favour of Scheduled Castes and Scheduled Tribes.
(2) According to the rules of the h Constitution, a class must be back and underrepresented in the
en
services in order to receive reserve for appointments and posts.

Which of the following assertions incorrect?

(a) Only (1) (b) Only (2)

(c) Both (1) and (2) are correct. (d) Neither (1) nor (2) apply.
Ans. (b) Only (2)

Q.3 If the fundamental rights of an Indian citizen are violated, where he can seek for remedy?
(a) Supreme Court (b) Parliament of India
(c) Election Commission (d) Council of Minister

Ans. (a) Supreme Court
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Q.4 Assertion(A): The Constitution of India says that the government can refuse any citizen of India
equality before the law or the equal protection of the laws.
Reason(R): Rule of Law is the foundation of any democracy.
(a) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(c) (A) is correct but (R) is wrong. (d) (A) is wrong but (R) is correct.
(d) (A) is wrong but (R) is correct

Ans. (d) (A) is wrong but (R) is correct.

Q.5 Assertion (A): Indian Constitution says that every person has a right to profess, practice and
propagate the religion he or she believes in.

Reason(R): Secular state does not establish any one religion as official religion.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(c) (A) is correct but (R) is wrong. (d) (A) is wrong but (R) is correct.

(d) (A) is wrong but (R) is correct

Ans. (b) Both (A) and (R) are true but (R) is not the correct explanation of (A).

VERY SHORT ANSWER QUESTIONS (2 MARKS)

Q.6 What is PIL ?

Ans. A Public Interest Litigation (PIL) is introduced in a court of law not by the aggrieved party but by a
private party or by the court itself. PILs have become a potent tool for enforcing the legal obligation of
the executive and the legislature.

SHORT ANSWER QUESTIONS (3 MARKS)

Q.7 What is meant by the term 'Right to Equality'? Provide two examples to illustrate how this right
ensures fairness and justice in society.

Answer:
1. Right to Equality: It ensures equal treatment under the law and prohibits discrimination on
various grounds such as religion, race, caste, sex, or place of birth.
2. Examples:

1. Equal Pay for Equal Work: Ensures that all individuals receive fair
compensation for their work regardless of gender or other factors.
2. Reservation Policies: Provide opportunities to historically marginalized groups in

education and employment, promoting social justice and inclusivity.
Q.8 Explain the significance of Fundamental Rights in the Indian Constitution.

Answer:
1. Guarantee Individual Liberties:Fundamental Rights ensure that every citizen enjoys certain
basic freedoms and protections against arbitrary actions by the state.
2. Promote Equality: They prohibit discrimination on grounds of religion, race, caste, sex, or place
of birth, ensuring equal treatment under the law.
3. Ensure Justice:Fundamental Rights include the right to life, liberty, equality before law, and
freedom of expression, which are essential for a just society.

LONG ANSWER QUESTION (5 MARKS)
Q.9 Why We Need Rights in Democracy
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Ans-In a democracy, rights are essential because they serve as safeguards and guarantees that protect
individuals and ensure fairness, equality, and justice within society. Here are several reasons why rights
are crucial in a democracy:

1. Protection of Individual Freedom: Rights ensure that individuals have the freedom to express
themselves, their beliefs, and their opinions without fear of repression or censorship.

2. Equality Before the Law: Rights prevent discrimination and promotes social cohesion.

3. Checks on Government Power: Rights act as checks and balances on the power of the

government. They limit the authority of the state to interfere in the lives of individuals, ensuring that
governmental actions are fair, just, and transparent.

4, Democratic Participation: Rights empower citizens to actively participate in democratic
processes.

5. Protection Against Abuse of Power: Rights provide legal protections against abuses of power by
the government or other individuals.

6. Human Dignity and Respect: Rights uphold the inherent dignity and worth of every individual.
They protect essential aspects of human life, such as personal integrity, privacy, and autonomy.

In summary, rights in a democracy are not just legal protections but also fundamental principles that
uphold the values of equality, justice, and human dignity. They enable individuals to live freely,

participate meaningfully in society, and hold their government accountable, thereby ensuring a
democratic system that respects and serves its citizens.
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